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SET-X

Code—A
auﬁsgon Questions
B (Legal Aptitude)
1. | Which of the following is not exclusively a crime ?
\ (1) Theft ' (2) Trespass
(3) Murder (4) Kidnapping
ﬁqmaﬁ@zﬁﬁéwmwﬁ@maqﬁ%?
1) = (2) FRER
(3) & (4) SAYRIT
. 9. | Which part of the Indian Constitution deals with Fundamental Duties ?
(1) Part-III (2) Part-IV
(38) Part-IVA" (4) Part-V
A R T A-aT A AR a @ wEred § 7
(1) WAIIL @ TIV
3 IVA @ WV
3. |Inlaw, what doyou understand by the term, ‘Estoppel’?

1) Prohibiting, someone from committing a crime

(2) A person cannot deny what he has previously stated
(3) Right to suein a civil court

(4) Right to be heard

F o0 ‘R o § H qEE € 7

(1) Bt & Ty &34 4 AT ,

2) ﬁéaﬁa%ﬁ%ﬁnﬂaﬁﬁmﬂﬁmm

(3) fafad <A & JecEH @ H SHER

(4) g1 T F SAEER

BLBHJ.EE-June, 2025-Code-A (1)
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Question
No.

Questions

—_—

4.

Which Article of the Indian Constitution deals with the Uniform Civil Code?

(1) Article 32 (2) Article 44
(8) Article 21 (4) Article 370

TRl WREN T A-aT SR A AR ded 4w ¥ 7
(1) o7g=se 32 A - (2)@@3& 44
@) orgEs 21 (@) T 370

What is the meaning of the legal maxim “Res ipsa loquitur”?
(1) The thing speaks for itself

(2) Let the buyer beware o

(38) To stand by decided matters

(4) No one is above the law ,.

faftrep erad AW g Sifhe}’ &1 Hr oY B 7

(1) o gz & a8 @) TR qEaE ®©

(3) @ T W T (@) B 6w @ e R

A person who is arrested and detained in custody must be presented before

a magistrate within how many hours ?
(1) 12hours | (2) 24 hours
(3) 48 hours (4) 72 hours

wm@mmﬁm@mﬁmﬁw%wm%mw'
fpar T @Rl ?

1) 12 . @ 24w
(3) 482 (@) 7242

BLBHJ-EE—June, 2025-Code-A (2
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Code-A
Questi 4
No.lon Questions
Te If a minor enters into a contract for purchase of a mobile phone,
what would be the status of such a contract under the Indian Contract
Act, 18727
(1) Void ab initio (2) Voidable
(3) Valid and enforceable (4) Voidable at the option of the minor
Hﬁaﬁéwﬁwxﬂmﬁqﬁﬂ@ﬂﬁ%ma@?ﬁam%awwﬂm,
1872 3 ol 0 orgey @ Refy @r & ?
| @) omw Q& sy (2) SHGHRICNY
(3) Ay qEr wadE Q) TEIRET @ G IR TGN
8. Which one of the following is guarénteed as a fundamental right under the
Constitution of India ?
(D) Right to vote (2) Right to constitutional remedies
(3) Right to strike (4) Right to property |
it & & B ARG S WRu 3 st A sl B w9 T SE |
(1) AR & SRR (2) HawirEe ST @1 SEER
(3) s=aART @ SRER . (4) R & SR
9. | What is the title of the wﬁt issued.by a court to restrain a person from

holding a public office to which he is not entitled ?
(1) Habeas Corpus (2) Mandamus
(3) Quo Warranto (4) Certiorari

el aafer QT AT T AT A0 @ dY & R frew @ e @
e Z) S Re Flidd @ A § 7

(1) &yl (2) TRERY

(3) PR Y=l (@) ST

BLBHJ-EE-June, 2025-Code-A  (3)
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Code-A
Q“ﬁsot-.ion D Questions | ] |

10. | The doctrine of ‘Rule of Law’ is ‘primar;ily associated with which of the

following ?

(1) XKarl Marx (2) Montesquieu

(3) Aristotle (4) Dicey

LT B AT H RS e w0 Y Rt § @ R A o @ 7

(1) Ft AR (2) R

® s @ owm
11.

The Indlan Penal Code, 1860 has been replaced by which of the followmg
laws ?-

(D Bharatiya Daﬁd Sanhita, 2023
2) Bharatiya Nyayé Sénhita, 2023
(3) Bharatiya Nagarik Suraksha Sanhita, 2023

(4) Bharatiya Sakshya Adhlmyam 2023

ﬂmﬂqmm%m 1860@W@aﬁémwmnﬁw®aﬁmw%?
(1) =g ave wfear, 2023 |

(2) 9~dE = Gl 2023
| @) RdE TR g diedm, 2023
4) Y TRy affEE, 2023

BLBHJ-EE-June, 2025-CodeA () « K
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Questions

12,

Which of the following is a.crime in India ?

1) Adultery 2 Sedition

(8) Defamation (4) Homosexuality
Rrfifeg § § - wRa & (g B 7

1) -Wﬂ?» (2) Tm-sag
(3) HIHEI | (4) AR

13.

The concept of “Basic Structure” of the Constitution was laid down in which

landmark case ?

(1) A K. Gopalan v. State 6£ Madras

(2) Kesavananda~Bharati v. State of Kerala

(3) Golaknath v. State of Pubjab |

(4) Minerva Mﬂls v. Union of India
Eﬁfﬂﬁ%“lﬁaﬁ”ﬁaﬂﬂﬂwﬁmmaﬁﬁﬁﬂﬁ?ﬁﬁmﬂeﬁ?
1) 3. N T TEE G (2) FIEMR ARG TH B T

3) T I G e (4) Pl fed S AR 69

14.

The ownership of patents, c_opyright and trademark is known as-
(1) Corporeal ownership | (@) Incorporeal ownership

(3) Equitable ownership | 4) Contingent ownership

P, FrdRmEe qur @R R @ W@ S S e

(1) e @fta & &7 § (2)&@@%‘:%*@1?

@) T @i 3 w1 d (4) TR @i § w98

BLBHJ-EE-June, 2025-Code-A  (5)
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15.

| (O faire T § I & emy

What do you mean by ratio-decidendi of a case ?
(1) Oxrder of the court in the particular case
(2) Final decree pronounced by the court

(3) Underlying reason or principle forming the basis of judgement

(4) The persuasive part of judgement

WW'%W%W&R@WWWSM%?

@) =T aT A s Fefa
3) Frefa # omaR T M awn SRR wror @ R
(4) ™oF &1 WRF 9

16.

(3) TTDE-299 (4) STTRF-300

The vicarious liability of State for the wrongs committed by its servants is

contained in which Article of the Constitution ?
(1) Article-297 (2) Article-298
(3) Article-299 (4) Article-300

mmmﬁwm%mwmmmmm%mw
4 fifed 8 7 |

(1) aaga?a-zm | (2) oTeBs-298

BLBHJ-EE-June, 2025-Code-A  (6)
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17.

In law, dislocation of a tooth amounts to which of the following crimes ?
(1) Simple hurt (2) Grievous hurt

@3) Crinﬁnal assault ’(4) Criminal force

FT F, T o Frekiad § A B oy & ofertd o ¥

V) RIS . (@ R |

(3) MRS THT (4) ST el

18.

1@ ﬁﬁaitﬁrwqwmﬁﬁﬁnsm
TR

S
‘BLBHJ-EE

Right to shelter was recognized by the Supreme Court as a part of Right to
life under the Constitution of India, in which of the folloiwng cases ?

(1)° Olga Tellisv. B'omb'ay'Mu'nicipa.l. Corporation- -
(2) Vishakhav. State of Rajaéthan |

(3) M.C.Mehta v UniAon pf India

(4) Prem Shankar Shukla v. Delhi Administration

wm%mﬁw%vﬁm%mﬁaﬂ%m%@w%mﬁaﬁa
R ET A &, fefifed & @ feg g d |

(1) @wmwa@é‘ﬂﬁmwsm
2) fasreEr T RaE

@) @ @ w9 4R wy

‘ -June, 2025-Code-A (7)
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SET.X
Code~p\
N
Qu‘(&stion Questions
| No. _ _ —

19. | Which of the following statements is correct relating to legal age of marriag,
in India ?

(1) 16 for girls and 18 for boys

(2) 18 for both boys as well as girls

(3) 18 for girls and 21 for boys

(4) 21 for both boys as well as girls

T e 3 R oy & e wd o PR § 8 e 2 7
(1) T & [ 16 T w3 fw 18

(2) WEH T dEH A D R 18

3) agﬁm‘r%m 18 wm%mm

@) T A A R 21

20. | By which Amendment of the Constitution, Wei'e the terms ‘socialist’ an

‘secular’ added to the preamble ? |

(1) 36" Amendment i (2) 42“"Amendment

(3) 52" Amendment @) 66t;1 Amepdment

GICEIE| % 0 Hemer g JEa § AR q YR = @) S ™ ?
(1) 36611’ RIBE] : (2)" 4297 HMew

(3) bH2ai gl (4) 664l M

BLBHJ-EE-June, 2025-Code-A (8)
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Code-A

Question Questions

(Reasoning)

21. | A tank is fitted with two inlet pipes, Pipe A and Pipe B. Pipe A can fill the
tank in 12 hours, and Pipe B can fill it in 20 hours. There is also a waste
pipe that can empty the full tank. If all three pipes are opened together,
the tank gets completely filled in 15 hour. How long will the waste pipe

take to empty the full tank ?

(1) 10 hours - | - (2) 15hours

-(3) 18 hours | (4) 20 hours

w ¥ F 4 gy &, 9 A iR U=y B URy A ¥F & 12 € & Wl &1 U39 B %
F 20 €2 F el ¥1 O AR AW WY & S &b P @l B Tkl & | SFR AN AT
o G G & ST al 3% 15 § - ARl & | I URY <F Hl @il Hiq § fher <A

T ?
1) 108 (2) 158 .
@) 182 o @) 208

22. | The Raj'dhani Express runs at a speed of 90 km/h. It starts from a station
6 hours after a goods train leaves that station. The Rajdhani overtakes the
goods train 6 hours after it starts. What is the speed of the goods train ?

1) 50km/h (2 45kmmh
(3) 40km/h (4) 30km/h

T T 90 RRY. /e & Y @ Twd 21 98 T R @ Wl 3 <A e
%6@%3@@%1@@,@%%@%%6@%@@@%3@
B ATl @ o e ?

(1) 50 feHT. 5er (2) 45 ﬁ#ﬁ./a‘a
(3) 40 foHl. /5 | © (4) 30 fH. /e
- BLBHJ-EE-June, 2025-Code-A  (9)
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Find the sum of the digits in the unit place of all 4-digit numbers that can

be formed using the digits 2, 5, 6 and 7 without any repetition.

(1) 144 (2) 136

(3) 120 4) 156

&F 2, 5, 6 9 7 F IWM F R el gAUgRT B SIS ST @RS Al |l
4 P GEell B SHRE WM & SHh H I & BN |

(1) 144 (2) 136

(3) 120 @ 156

24.

What should come.in the place of X in the following number series ?°

4,10, 7,16, X, 22

(1) 10 -  (2) 13

@) 19 @ 2

frffea e <@ & X & @M ® #r o =Ry ?
4, 10,7, 16, X, 22 |

(1) 10 (2 13

@) 19 @) 20

BLBHJ-EE-June, 2025-Code-A  (10)
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SET-X

Code—-A
Q‘II%S()t.iOll Questions
25. | In a group of three friends-Ravi, Raj and Ramesh-it is known that Ravi is
taller than Raj but not as tall as Ramesh. Based on this information, if we
compare the heights of all three individuals, who among them is the talllest?
(1) Rawi (2) Raj
(3) Ramesh (4) Cannot be determined
& St TR, T ok AU B U WE § g8 o & B W U9 @ o & AR wa
ﬁmwaﬁ%ummﬂ%aﬂmw af &H AT Sl B Sa H A B
o & P9 =9 w8 ?
(1) <@ ) [
@) A (@) iR T8 R smEm o
26. | IF TODAY is coded as UPEBZ, how is EXAM coded ?
(1) FYBN | - (2) EWBM
(3) FYAN (4) FXAN
gz TODAY %! UPEBZ form@r siar @ @t EXAM & e R faer s ?
(1) FYBN ) (2) EWBM
(3) FYAN (4) FXAN
27. | If a dice has faces numbered 1 to 6, and it is rolled twice, how many total

outcomes are possible ?

(1) 12 (2) 36
3) 18 4) 24
af U R W 1 @ 6 % FHifhT W § SR 9 & AR G Al 8, @ Fo (b
qRome @9q g 7 -

(1) 12 (2) 36
(3) 18 4) 24

- BLBHJ-EE-June, 2025-Code-A (11)



Code-p
sti tions | =
Qul\e:o.mn Qlles | :
is drawn af |}
28. | A bag contains 4 red, 5 green and 6 blue balls. If one ball 18 a

random, what is the probability that it is green ?
(1) 5/16 ©) %
3 15 4) 1/3

T I A 4 9, 5 &0 ol 6 Al R ¥ AR 1 e amhes w7 @ e o S A
RMEIETT S Fawad & 2

(1) 5/16 (2) %.
3) 1/5 | 4) 13

29. Acard 1s drawn from a well- shufﬂed deck of 52 cards. What is the probability
of drawing a King or a Queen ? :
(1) 426 | (2) 8/54
(3) 1/13 | @ 252
qﬁﬁ@mﬁm@%ﬁnﬁ@ﬁ%%m%m%lwmwmﬁ
G| Hrf?‘-(?ﬁn T ? | -
(1) 4/26 S - (2) 8/54 |
3)- 1/13 P ' (4) 2/52

30.

Ifthe cost price of 20 articles is equal to the selling prlce of 18 articles, find
the profit or loss percentage

(1) 10% profit (2) 10% loss
(3) 11.11% profit (4) 11.11%loss .

qﬁzomgaﬁamasqlgq18@&%%@1@%%1%,&@12:1@%%%%
FIfTT |

(1)  10% s (2) 10% =fy
@) 1111%@w (4 11.11% =My

BLBHJ-EE-June, 2025-Code-A (12) - —
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Code-A
!ul‘fls(f.ion Questions
31. | Pointing to a man, a woman says, “He is the son of my grandfathers only

son”. How is the man related to the woman ?
(1) Father (2) Brother
(3) Son . (4) Cousin

o o) & SR S9RT B U, U AR ded 8, ‘98 A AT & FHAd d¢ H
Y| qg ot Aiar @ feE TR AeE B

(1) [ | 2) =
(3) F | 4) &
32. | A is the father of B and B is the brother of C. How ié C related to A ?
(1) Father | ' (2) Mother |
(3) Son/Daughter | (4) Brother
|ABHRAMYTARB,CHIERICHA QT GT & ?
Q) fmm (@ Hmm
@) /3 4)
33. | Aman walks 5 km nbrth, then 3 km east, then 5 km south. How far is he

1@ 5km (4) 8km

from the starting point ?

1) 3km : (2) 4km

o Tt 5 Bl IR A o, e 3 Reolt o A of, e 5 Rl o A ol
o X1 98 ol g @ R g WR T
(1) 3 FeA. @) 4 F5.
@) bR ' @) 8.

BLBHJ-EE-June, 2025-Code-A  (13)
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Code-p
Question Questions 2
No. '
34. | Arrange the words in the order in which they occur in a dictionary.
(A) Artist (B) Artificial
(C) Articulate (D) Aritisan
Options:
1. B, C D, A
2. C, A B, D
3. B, D A C
4. C, B, D, A
= H I HA A HaRyd B Pred 7 gy F oM E |
IEETS IR
() Artist (@) Artificial
() Articulate (®&) Aritisan
1. @ 7, 9, F
2. T, %/ G H
3. @ ° & T
4 T, @, 4, &
35. | When a dice is rolled, what is the probab111ty of gettmg a number greater
than4?
1) % 2) 1/6 3) 1/3 4) 2/3
9 TF TN Gl ST 2, O 4 F I GEr o o GHE /@1 S ?
1) % 2) 1/6 3) 1/3 4 2/3
36. | If some pens are books and all books are pages, then some pens are

definitely :

(1) Pages (2) Books

(3) . Not pages (4) None of the above

af 5o O P ¥ ok at e O B, @ 5 O Rem w7 @ ¥
1) W @ RR

3) W T (4) ST T q HE T

BLBHJ-EE-Jun_e, 2025-Code-A
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Code-A
Question .
No. Questions
37. | Two numbers are more than a third number by 20% and 50%, respectively.

The ratio of the first two numbers is :

1) 2:4 (2) 356

B) 45 @) 5.7

5 e w Sl TE @ 20% ST 50% G ¥, T A TeAel H org 2 7
1 24 (2)» 3:5 |

(3) 45 | 4) 5:7

38.

Identify from the options given below the unwritten number (?) in the

series ? 180, 60, 15, 3

lay 10 @ 300

(3) 360 | (@) 320 |

ﬁ%ﬁqwﬁmﬁﬁaﬁ@ﬁm@)ﬁqﬁm?

180, 60, 15, 3
(1) 180 - (2) 800
(3) 360 : (4) 320

BLBHJ-EE-June, 2025-Code-A  (15)
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Code—-A
Question QuestiOI\S BT
fio. ill be
. ich numbers W
39. | Two different positions of the same dice are shown. Whi |

at the top if 4 is at the botton ?

1) 3 (@) 6
@ 5 : 4) 1
@ﬁm@aﬁﬁwmﬁaﬁmwﬁénﬁ%qﬁ&ﬁﬁ%ﬁt%ﬁ%ﬁa@mﬁ?

&

®» 3 - @6
@ 5 a @1

40.

A certain number is first increased by 25%, and then the resulting numbe:

is decreased by 20%. What is the net percentage change in the origina

number ?
(1) 5% increase | (2) 5% decrease
(3) Nochange A 4) 10% decrease

@ﬁféaamﬁqea%%aﬁqﬁa'aﬁm%aﬁwmwﬁwmmﬁzo%ﬁw
HI ST B 99 e ¥ g e aRads @ g ? |

(1) 5% gfs (2 5% FH
@) e wRedT T (4) 10% F

BLBHJ-EE-June, 2025-Code-A (16) - A
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No.

Questions

41.

(General English)
Terse (Give Synonym)
(1) Dbrief in speech (2) beyond fear

(3) without honor (4) under strain

42,

Tenacity (Give synonym)
(1) perseverance (2) decimation

(3) splendor (4) ingratitude

43.

Select the niqst appropri-ate meéning of the given idiom : Hale and hearty
(1) Strong and healthy | (2) Angry but happy

(3) Clumsyandcalm - 4) Weak and ill

44.

Select the most appropriate meaning of the given idiom : In a nutshell
(1) Very bfieﬂy ) Ektremely'pale'
(3) Under protection | (4) Without delay

- 45.

Select the correct passive voice of the'given sentence::
Who can éuestion Gandhi’s integrity ?

(1) By whom can Gandhi’s integrity be questioned ?
(2) By whom Gandhi’s integrity can be questioned ?
3) Gandhi’s,integrit'y can be qu,estioned by whom ?

(4) Who could have questioned Gandhi’s integrity ?

BLBHJ-EE-June, 2025-Code-A  (17)
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Code-
N
Question Questions | = |
No. ‘ |
46. | Select the correct passive voice of the given sentence.
He presented me a bouquet on my birthday.
(1) Iwas presented a bouquet on my birthday by him.
(2) A bouquet is présented to me on my birthday by him.
(3) Iam presented on my birthday a bouquet by him.
(4) Iwill be presented a bouquet on my birthdayv by .him. ]
47. |Ifhehad gone to Agra, he .......... the Téj Mahal. (Choose the correct optio:
(1) would have seen ; ) .(2') saw . |
(3) had béen seen R (4) have beén_ séep
48. | The bdy came to see me this mb_rniné had cor;i'e- from Agra.
(Choose the correct ‘6btion) :
) who @ which
(3) that (4) , whom
49. | His pafh was beset ............... difﬁculties.
(1) wifh | ' | (2) within
(8) among ;  (4) by,
50. | I have resigned myself ............ . my fate. i
(1) to | @) with
3 on s 4) at
BLBHJ—EE-June, 2025-Code-A (18) —
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| Quﬁsotion Questions
51. | Select the alternative that shows a similar relationship as the given pair-

Impulsive : Impromptu

(1) Flawless: Impeccable ~ (2) Moderate : Increase

(3) Perpetual : Transitory (4) Resistant : Receptive

52.

Qelect the sentences that has no spelling errors : |

(1) The mall road of our city is always teeming with street vendors
(2) The mall road of our city is always teyming with street vendors
(3) The mall road of our city is always timing with street vendors

(4) The mall road of our city is always tyming with street vendors

53.

Select the most appropriate antonym of the underlined word :

He was riding his bike on a bumpy surface. |
(1) Uneven (2) Jerky
(3) Choppy (4) Steady

54.

Select the option that can be used as a one-word substitute for the underlined

part of the given sentence. Dogs are known for being faithful.
(1) Fidelity ' ' (2) Honesty
3) Creditability - (4) Genuineness.

55.

Select the antonym of to abnegate
‘(1) to admit - (2) to eject
(3) to evict (4) to bounce

&

. BLBHJ-EE-June, 2025-Code-A  (19)
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Quéstion Questions
No.
56.

Choose the sentence with correct st.lbject-\}el'b agreement :
(1) The committee has decided on the date.

(2) The committee have decided on the date.

(3) The committee are deciding on the date.

(4) The committees decides on the date.

The new law will surely ............

57. | Select the sentence w1th an incorrect plural form :
(1) Ibought two loafs of br ead
(2) The geese are flying south :
(3) We saw several _mice in the barn.
(4) She has many books |
98. | Select the sentence that corr ectly usesa gelund
(1) Ienjoy sw1mm1ng in the ocean
(2) Ienjoy to sw;m in the ocean.
(3) Ienjoy swim in the ocean
4) I éhjoy to swimming in the ocean
~ 59. | Choose the correct sentence - _ ,
(1) . Neither of the lawyers has presented their argument
(2) Neither of the lawyers have presented their argun_ient
(3) Neither of the lawyers have presented his argument
(4) Neither of the lawyers has presented their arguments
60. | Fill in the blank with the correct phraéal verb :

many challenges during implementation
(1) runinto (2) bring about

(3) come across ‘ (4) take over

BLBHJ-EE-June, 2025-Code-A _(20) | =
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Code-A
Quﬁscf.ion Questions
(General Hindi)
61. | ‘TA=Aky q= § P-ar q
(1) FHaE 2) Tgife
(3) TGS 4). &g
62. | ‘@ & wWagEs G B ¢
1) o (2) b
3) (4) T q F Tl
63. | ‘gemw = A FA I € " |
O @™ @ 3
(3) 4 3T
64. | e w= § v @
(1) (2) o
| @ o (@
65. | ‘qudl’ P ST qaRd
(1) ast (2) T |
@) aaRe (4) a9
66. | ‘ORI & qEigArEl FARd
(1) LR (2) ured
@) & (4) 9
(21)
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No.
67. | ‘1 @ fad saEy
(1) @ (2) Tl
@) e (4) srgfm :
~ 68. T ST B TGV T H GD T T B-ar gerE A
(1) [ & a8 9w - @ g e
() T ® M (4) & H @I |
69. | = F TIHT WY TARY ;- o
1) SEm™ | (2) IS
3) | (4), EIGi
70. | T = @ why S |
W T+ @ T A
L WQWWWQT%WWQE@W o .
. (3) q "Dl]’ (4) ﬂqﬁm | - f\ |
72. ﬂﬁ?ﬁifﬁ@&ﬁﬁaﬂazﬁmw: ' \  -
»(1) GEM?WT @ & f.ﬁ
(3) ofErfigror @ a9 |
73. e Co G?%%Rﬁ = Eﬁ@ : \—_
b W @) = |
S @) "y

BLBHJER
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| 74, | camedE g Reed ST STR
' (1) B fsrr (2)
(8) s (4) Gr=EeE Yo
75. | ‘@fdEc’ e @ 8
(1) T (2) e
@) fErl (4) FHAEE
76. | R % W@ T B AW A |
1) e (@ .
(3) T ,, (4) F=d
m Py S
1) = §a (2) faert wfa
(3) aﬁzr =% 4) ¥ & P %‘T
78. aawm esrﬁ?aerra%mwra%
(1) AT : - (2 sEEE
3) mﬁvraﬁ 5 (4) EEER
79. Wﬁmmﬁﬁawﬂﬁr@%
R IR H, Ig AT T
¥ A SR B '
(1) 9 (2) T9h
3) W& . - (4)
80. ‘fﬁmcﬁ%gﬁmﬁﬁa@%% maﬁwammwaﬁ@
Q) waaE- O, e arr
, L (8) T drFH ;T‘. ks (4) ST 9 -

BLBHJ-EE June, 2025 Code—A (23)
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Question Questions; '
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(General Knowledge)

81. | Which of the following is the largest Harappan site ?
(1) Mohenjo-daro (2) Lothal
(3) Rakhigarhi (4) Kalibangan
Frafofeg & @ H9-a1 999 T27 geu W 8 7
(1) Hied SiEs! (2) e
() ErEl (4) HAET

82. | Which of the following was the immediate cause for the outbreak of revol
of 1857 ? | - S
(1) Abolition of Sati - (2) Introduction of greased cartridges
(3) Remarriage of W1d0W @ None of the above
1857 3 RdE 3 CIRe| éﬁ E %i%r ﬁﬁﬁr@a ¥ @ -8 Ahlicas BT elT
(1)a?ﬁsrmmrawg§1=r , -(Z)EWW%WWWH‘
3) ﬁwmgﬂﬁm R (4)3@216%7@@%%‘7

83. | Which dynasty is known for its extensive rock-cut architecture and cav
temples ? |
(1) Mauryan (2) Satavahana
(3) Gupta | (4) Kushana

| ﬁwmmﬂmwmﬁmmﬂwwwm%mmm%?

OB | (2) AT
@ T« (4) Fum

BLBHJ-EE-June, 2025-Code-A (24) A , — 4‘/
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84.

Where did Buddha give his first sermon ?

(1) Lumbini (2) Bodh Gaya

(3) Sarnath (4) Kushinagar |
TE T S YN SR F A ?

1) g (@
8) WM | () FER

85.

The states created in 1960 were : ”
@)) Maharashtra and Gujarat (2) Orlssa and West Bengal

(3) Rajasthan and Gujarat (4) PunJab and Haryana

1960 & Fff T & :
(1) TR & TR ’
(3) TSI T TERE (4)qmawgﬁmvn

(2) asﬁwwwema

86.

Who delivered the first speech “Tryst w1th destlny
(1) Dr.S.Radhakrishnan 2 PanditJ awaharlal Nehru

(3 SardarVallabhbhaiPatel (4) Dr.Rajendra Prasad
Rrert e e ‘R & g e R e ?

(1) @f. Tq. TgRyH (@ ufRw ufql"'e_;wil'vt'»?ié(ﬁ
(3) WER g ¥ R @ £l Tﬁam |

- BLBHJ-EE-June, 2025-Code-A (25
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Land
i

m

; : ot ‘Jal
Which one of the following is the main objective of ‘J

(1) Per capita water availability assurance
(2) Rain-water harvesting

(3) Conservation of water resources

(4) Providing sufficient water for agriculture

S Hif AT B e Igaed Frfaied § @ HE-A1 8 7
(1) ¥iT AR ST SURET STSar

(2) 98 5@ AR

(3) = HEEHl H R

@ ﬁﬁ%mw‘awmw_m_

Kranti Abhiyan®?

88.

Which was the first Census year of British India ?
(1) 1891 (2) 1941

(3) 1881 @ 1911

e ARG H T SO 9§ e o ?

(1) 1891 f @) 1941

(3) 1881 - (4) 1911

89,

Z Morh Tunnel is located in which state/UT ?
(1) Sikkim (2) Arunacha] Pradesh

(3) Assam - (@) Jammuang Kash;nir

@,fglﬂgaaﬁmwx%smaqﬁwﬁmﬁaﬁ%?-

1
(1) Rt @ Ry
3

BLBHJ-EE-J une,

2025-dee-A (26) \ ‘ ]
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90. | Which of the following town is not located on the banks of a river ?
(1) Patna (2) Kolkata
(83) Bhopal (4) Agra
Frefafad § @ i9-a1 w6l T & Rt orafkerd & & 7
(1) eI (2) IR
(3) U (4) o
91. | How many individuals were honoured with the Padma Vibhushan Award in
2025 7? :
1) 4 2) 5
@ 7 4 9
2025ﬁmﬁ'@1ﬁaﬁq§qﬁwwﬁwmﬁmw?
1) 4 @) 5
® 7 ) 9
92. | Which of the following gases helbs in bread/cake fermentation so as to

make it soft and spongy ?

(1) Carbon monoxide (2) Carbon dioxide

(3) Nitrogen oxide (4) Sulphur dioxide

Rl & @ @ @ 9 33/3% S Rrvead § Terar a1 § i 9 A T Wil

g 7 Gh 7
(1) ST ANFES . (2) FEA SEAifFES

() RIS SIFES  (4) o SEellEsS

BLBHJ-EE-June, 2025-Code-A  (27)
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Code-p
ﬁlﬁsot.ion Questions
: ; ' t cells ?
93. | Which of the following cell organelle is present only in plan
(1) Lysosomes (2) Plastids
(3)  Cell membrane (4) Plasma membrane

BLBHJ-EE-June, 2025-Code-A _(25)

—_—

(1) @ e
®) B R (4) = Rl
94. | Electric bulb filament is made of :
(1) Copper B @) Tuﬁgsten
3) Aluminum | (4) Nickel
E 9o WG S Ak E |
1) & Hm @ AW
(3) TR @ P
95. | In fireworks, green flame is produced because of -
(1) Sodium @ Potassium
(3) Chlorine | (4) Barium
Tfiereml § &6 S oo B R
1) dfeam & Fro (2) WreEd & o
(3) TN & FRor @) 3 % e
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Code—A
Q“I‘\’Ts()tfo“ Questions

96. | The wavelength of visible spectrum is :
(1) 8500-9800 angstrom (2) 7800-8000 angstrom
(3) 3900-7600 angstrom (4) 1300-3000 angstrom
3o Uiy @ aimaed ¥ ;o
(1) 8500-9800 BﬂTl'&’Tq' 2) '%800-8000 M
3) 3900-_7600611"1@"1 (4) 1300-3000 g H

97. | The AI Action Summit 2025 was held in which of the following city ?
(1) New York (2) Paris
(3) Geneva (4) -'New Delhi
¢ o7 TR aRE 2025 PR A 3 o 9T B g
1) = | @ R
(3) S (@ T R

98. | Kamla Persad-Bissessar has been elected as prime minister of which country
in April 2025 ? ”
(1) Barbados @) Cuba
(3) Trinidad and Tobago (4) Jamaica
et 2025 F FT TAE AT B R 29 B gur & w9 § g mr e ?
(1) aRaE™ (2) @gan

5 @) ffeEr ok a9 (4) STHE

BLBHJ-EE-June, 2025-Code-A  (29)
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99. | Who became the first Kannada writer to win the International Booker
Prize? '
(1) Kuvempu (2) U.R.Ananthamurthy
(3) Girish Karnad (4) BanuMushtaq
SIS G RN S aTeT He eig g 3 Ol 7
(1) g (2) .. ST
(3) M FHis (4) I

100.

Which badminton players received the Major Dhyan Chand Khel Ratna
Award in May 2025 ? :

(1) P.V.Sindhu and Saina N ehwal

(2) Satwiksairaj Rankireddy and Chirag Shetty
(8) Kidambi Srikanth and Lakshya Sen

(4) Sameer Verma and Parupalli Kashyap |

7% 2025 ¥ BT Gefve feaisdl F Ao e o ¥ I QR A B ?
(1) 4.4 Ry qur e AEd

(2) WEHABIS IUTbIRGE! Tl RRTT e

(3) FrerE iy qdr @ed A

(4) TR gaf qur UsUel HAT
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| I - \ Code—-B

: 6;;:55(;;/ | Questions

| (General English)

1. | Terse '(Give' Synonym)

(1) brief in speech (2) beyond fear

; (3) without honor (4) under strain

__—2_—— Tenacity (Give synonym)
1) perseverance (2) decimation
(3) splendor (4) - ingratitude

Select the most appropriate meaning of the given idiom : Hale and hearty

(1) Strongand heaithy 1 2) Arigry but happy

(3) Clumsy and calm 4) Weak and ill

4. | Select the most appropriate meaning of the given idiom : In a nutshell

(1) Very briefly '('2) Extremely pale

(3) Under protection (4) Without delay

5. | Select the correct passive voice of the given sentence :
Who can question Gandhi’s integrity ? |

(1) By whom can Gandh1 s integrity be questioned ?
(2) By whom Gandhi’s integrity can be questioned ?
(3) Gandhi’s integrity can be questioned by whom ?,

(4) th could have questioned Gandhi’s integrity ?

LBHJ-EE-June, 2025-Code-B (1)
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6. Select the correct passive voice of the given sentence.
He presented me a bouquet on'my birthday.
(1) 1was presented a bouquet on my birthday by him.
(2) A bouquet is presented to me on my birthday by him. ‘
3 I am.presented on my birthday a bouquet by him. il‘
(4) - I will be presented a bouquet on my birthday by him. J
7. | Ifhe had gone to Agra, he .......... the Taj Mahal. (Choose the correct option) !
(1) would have seen’ | ‘(2). saw
(3) had been séen , (4) have been seen
8. The boy ........... céme to see me this morning had come from Agra.
(Choose the correct option)
(1) who N (2) which
(3) that (4) whom
9. | His path was beset ............... difficulties.
(1) with | (2) within
(3) among (4) by
10. | I have resigned myself ......... .... my fate.
M to ? @) with
it oa ) at

BLBHJ-EE-June, 2025-Code-B (2 _
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11. | Select the alternative that shows a similar relationship as the given pair-

(1) Flawless : Impeccable (2) Moderate : Increase

Impulsive : Impromptu

3) Perpetual Transitory (4) Resistant : Receptive

12.

Select thé sentences that has no spelling errors :

(1) The mall road of our city is always teeming with street vendors
(2) The mall road of our city is always teyming with street vendors
(3) The mall road of our- city is always timing with street vendors

(4) The mall road of our city is always tyming with street vendors

13.

| Select the most appropriate antonym of the underlined word :

He was riding his bike on a bumpy surface.
(1) Uneven (2) Jerky
(3) Choppy (4). Steady

14.

Select the option that can be used as a one-word substitute for the underlined

part of the given sentence. Dogs are known fc_)r being faithful.
(1) Fidelity - (2) Honesty
(3) Creditability ‘(4) Genuinéness

‘15.

Select the antonym of to abnegate -
(1) to admit (2) to eject
(3) to evict . - (4) to bounce

f"'BLBHJ—EE-June, 2025-Code-B  (3)
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16.

Choose the sentence with correct subject-verb agreement :

(1) The committee has decided on the date.
(2) The committee have decided on the date.
(38) The committee are deciding on the date.

(4) The committees decides on the date.

17.

Select the sentence with an incorrect plural form :
(1) Ibought two loafs of bread |
(2) The geese are flying south

(8) We saw several mice in the barn.

(4) She has many books:

18.

@ 1 enjoy to swimming in the ocean

Select the sentence that correctly uses a gerund :

1) 1 enjoy sWimming in the ocean
(2) Ienjoy to swim in the ocean

3) Ienjoy swim in the ocean

19.

Choose the correct sentence :

| () Neither of the lawyers has presented their argument

(2) Neither of the lawyers have presented their argument
(3) Neither of the lawyers have presented his argument

(4) Neither of the 1awyers:has presented their arguments

20.

Fill in the blank with the correct phrasal verb :

The new law will surely ............ many challenges during implementation.

(1) run into | '(2) bring about

(3) “ come across | (4) take over

BLBHJ-EE-June, 2025-Code-B (4) | R ey
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21.

(1) FHURA

ey o A -4 W @

(General Hindi)

(2) agAife

(4) &&

(3) TP
22, | ‘@ o s W AN
Q) @) gl
@) (4) 7 @ FF &
03. | ‘gemew ar & -G I § .
M SR
@ T @ 3\
94, | ‘gmmr 9=  gd 8 ‘ .
@ | @) @
3) o @ am
25. | ey @ e -
1) adh | () A
@) g (4) T
26. | ‘wea¥’ @ qdEErE g ¢
1) TE | oy (2) A
@ (4) A
' BLBHJ-EE-June, 2025-Code-B  (5)
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Q“Isf)t.ion ' Questions
27. | ‘FEW # e aaEd
(1) w@rIiah | (2) TAEA
(3) e (4) srgfer
28. | ‘B AT A Tl TG BT AL G F BT GErERT A
() fow & arg = (2) T AT
(8) & @ S . (4) a F =

29. | ¥ € F T WY AR ¢

(1) S = (2) WM
(3) eorMm (4) oTETL
30. | 9REF S @ Al enft
1) T+ 3% | (2) 9 +3%
(3) I+ o1 4) I +7%

81. |&MR & o T aT B RIT T 1= &

(1) ersiEs (2) e
(3) R (4) SToRRwR
32. | ol ofe A g v @1 T A A
(1) SEfieer  (2) ofEifEeRe
(3) sy | (4) STEFfEHToT
33. | “Rer’ & et 9= ARy -
(1) ST | 2 Thq
B) S 4) g
BLBHJ-EE-June, 2025-Code-B (6)
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34. | ‘carrd®’ o fRAd SRTTT S
(1) fer Qe (2) wdsm
(8) usu (4) gt Qo
35. | ‘FRaEdr frad w8
1 g™ ~(2) ForiEmE
@) fer » @ _EBE“WH
36. | FR @ FgE@ &A1 B TH TR
(1) FH (2) Tagen
(8) . (4) FEAHd
37. | ‘o + omER A H @ I F
(1) =i qf _ (2) faet afg
(3) I i ,(fl)s?ﬁ@ﬁs‘ﬂé’f
38. | ‘i T R A% B W w D
(1) WErEE a ~ (2) BEEE
(8) WAIER _ (@) EEER
39. mﬁﬁmﬁ@rmwﬁf@%
T H-AT AP -
(1) w9 (2) I
(3) e (4) Ta™ .
40. | ‘Rrar off ¥ ger@ @er 6 7 ggd MR & TEA A R § A H HBR TR
(1) o aE - 2) fsr am
(3) WgH A 4) e ar

BLBHJ-EE-June, 2025-Code-B  (7)
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41. | Which of the following is not exclusively a crime ?
(1) Theft (2) Trespass
(3) Murder (4) Kidnapping
Frefefed & @ Si9-a1 o ®0 @ TF STy el B ?
1) = . (2) FfErR.
@ & @ swEw

—

42. | Which part of the ‘Indi_an Constitution deals with Fundamental Duties ?

(1) Part-IIl (@) Part-IV

38) Part-IVA - (4) Part-V
Aa R B A A AR wde § a2 ?
Q) @I (@) WV

(3) 9r-IV A (4) -V

43. | Inlaw, what do you understand by the term, ‘Estbppel’?
(1). Prohibiting someone from committing a crime

(2) A person cannot deny what he has previously stated
(3) Right to suein acivil éburt

(4) Right to be heard

FLT H oY ‘fse o & T AR ¥ 7

(1) el B o1aRIg & @ bl

(2) @i @l Ten FHE T 9 § SRR el B el

(3)  Rfer <mE § GEHE F H SHER

(4) G M & SAEER

BLBHJ-EE-June, 2025-Code-B  (8)
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-44.

Which Article of the Indian Constitution deals with the Uniform Civil Code?
(1) Article 32 | (2) Article 44

(8) Article 21 (4) Article 370

ARG WG F HH-A1 TRe g9 aRE dRar @ awrag B ?

(1) oTgRT 32 (2) ol 44

(3) og=sT 21 (4) eT=8% 370

45.

'(2) Let the buyer beware

(8) T A W HE e (@) P BT F SR T B

What is the meaning of the legal maxim “Res ipsa loquitur”?

(1) The thing speaks for itself

(8) To stand by decided matters

(4) Nooneis abqve the laW_
faftres e @ gwr dffhex’ @ ar eref ¥ ?
(1) o & & et 2 (2 TR gEdaE ©

46.

Aperson whois arrested and detained in custody must be presented before
a magistrate within how many hours ?
(1) 12 hours (2) 24 hours

(3) 48hours - (4) 72 hours |
wm@mmﬁm@mﬁﬁmaﬁ%wm%mw

e St =R ?
(1) 12% . @ 245
(8) 48d°e _- (4) 7242

BLBHJ-EE-June, 2025-CodeB__ ()



SET-X

Code—-B
/ .
/ .
Question : Questhl‘lS
No. _ bil hone
a mobile P s
hor enters into & contract for purchase of . Contract
47.. | If a minor &= tract under the Indian Contrac

what would be the status of such a con
Act, 18727

(1) Void ab initio

(3) Valid and enforceable .
qﬁﬁéwﬁﬂﬁmﬁm@ﬁﬁ%ﬁﬁaﬁmm%ﬁﬂmﬂa@aaﬁm,

1872 % orria Q@ oTgee 1 Reffr F@0 B0 7

(2) Voidable |
(4) Voidable at the option of the minor

1) o & & o (2) SR
(3) g qAT FAGH (4)=rrari%ma%quamrawﬁq
48. | Which one of thé féllowing_ is guaranteed as a fundamental right under the
Constitution of India ? .
(1) Right to vote e (2) Right to constitutional remedies
(3) Right to strike : (4) Right to property
Friffd 3 & BF-a1 9RA & e B st A Rl & w9 F T €
(1) & SRR () W STER @ SR |
(3) &AM H DR (4) w=RT H ARBR
49. | What is the title of the writ issued by a court to restrain a person fron

‘holding a public office to which he is not entitled ? -
(1) Habeas Corpus (2) Mandamus
(3) Quo Warranto (4) Certiorari

Roell =i 1 Qa ARG & OROT 0 @ AHY B R R g8 smer w8 2
= g ST Re #1 9 w7 ar & ? |

(1) & gegefineer Q) WERY
(3) IR yes (4) I

BLBHJ-EE-June, 2025-Code-B  (10)
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50.

The doctrine of ‘Rule of Law’ is primarily associated with which of the

following ?

(1) Karl Marx (2) Montesquieu

(3) Aristotle (4) Dicey
“W%am”wmg@wﬁﬁwmﬁﬁ%%waﬂa%?
(1) i (2) HioeER

3) H - (4) sr™l

51.

F

The Indian Peha'l'Co'de, 1860 has been replaced by which of the following
laWS_ ? o ' |

(1) Bharatiya Dand Sanhita, 2023

(2) Bharatiya Nyaya Sanhitei, 2023

3) Bhafatiya NagarikSuraksha Sanhita, 2023

4) .Bharatiya Sakshya Adhiniyam, 2023 - |

ARAIE &vs gfe, 1860$Tﬁmﬁrﬁaaﬁaﬁwwmmma;mw%?
(1) ARG gUS Hfea, 2023

(2) 9 <™ m%ar 2023

(3) R AR Feem wlear, 2023

(4) o g st 2023

BLBHJ-EE-June, 2025-Code-B (11)
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59. | Which of the following 18 & crime in India ?
(2) Sedition

(1) Adultery
(4) Homosexuality

(38) Defamation
e § & S-ar wRd 7 TR ¥ 7

1) welm (2) TERE
(3) wEI (4) BERIRES

53. | The concept of “Basic Structure” of the C_()n‘stitution was laid down in whic
landmark case ?

(1) A.K. Gopalan v. State of Madréé

1 @) K_esavahanda Bhafati_v. State of Kerala}

(3) Golaknath v. State of Pubjab

(4) Minerva ‘N'Iills.v. Union of India

R B o @R ) omaren R AR A § FeiRa R A

1) TE. A T T T () DR A T I T

(3) e T G T (4) foral fore ST AR S

54. | The ownership of patents, copyright and trademark is known as-
1 () 'Corporeal ownership | (2) Incorporeal owhership

(3) Equitable ownership (4) Contingent ownership
&ﬁ,mammm%wwﬁaww%:

| () A T & A (2) o Wit $ w9 A

(38) WHET W F I (4) RS @it @ w9 §

BLBHJ-EE-June, 2025-Code-B (12)
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55. | What do you mean by ratio-decidendi of a case ?

(1) Order of the court in the particular case
(2) Final decree pronounced by the court

(8) Underlying reason or principle forming the basis of judgement

(4) The persuasive part of judgement |

Reel a1e & Fofa & oTaR @ enuer aar amarg 2 7

(1) Rftre 9= § <mrE T TR

(2) gAY R GG oty ok

3) Wwwmaﬁﬁmamﬁ%ammm
(4) Toig &1 9= AT | |

56.

The vicarious liability of State for the wrongs committed by its servants is

contained in which Article of the Constitution ?
(1) Article-207  (2) Article-208
3) Article-299 @ Artide300
AR 2R R T T A S R < A SRR SR @R 3 R oo
4 ffea g ? : . |

1) og@E-297 (@ oTgER-208
(8) eg=E-299 (4) STFBI-300

BLBHJ-EE-June, 2025-Code-B__ (13)
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57. | In law. dislocation of a tooth amounts to which of the following
(1) Simple hurt (2) Grievous hurt
(3) Criminal assault (4) Criminal force
FLT H, TT H Ige Frafifed ¥ A Bra o & ofarta o B
(1) 9RO i (2) "R A
(3) URIEH BT (4) UURE o
58. | Right to shelter was recognized by the Supreme Court as a part of Right to

| life under the Constitution of India, in which of the folloiwng cases ?

(1)  Olga Tellis v. Bombay Municipal Corporation

(2) Vishakhav. State of Rajasthan
(3) M.C. Mehta v. Union of India
4) Prem Shankar Shukla v. Delhi Administration

wm%amwﬁw.%ﬁﬁm%mﬁm%_m%@w%mﬁwﬁa
'Wz{mwﬁmﬁ,ﬁmﬁmaﬁﬁmmﬁ

1) WWW@%WW&H

2) fagrEr e R e

(3) T 4 edr g9 9Ra qy

4) ﬁqsmwaﬂmﬁ‘ﬁﬁnsm

BLBHJEE-June, 2025-CodeB (14
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59.

Which of the following statements is correct relating to legal age of marriage
in India ?

(1) 16 for girls and 18 for boys

(2) 18 for both boys as well as girls

(3) 18 for girls and 21 for boys

(4) 21 for both boys as well as girls

qra § faare & s oy @ @ 98 s Sreafiteg § @ S 2 ?
(1) TR F [ 16 T TR B Riw 18

©) e T T A % fora 18

(3) e & R 18 o e 3 R 21

1@ 'asasram-agtﬁa:ﬁ%mzl o

60.

L_

By which Amendment of the Constitution, were the terms ‘socialist’ and

‘secular’ added to the preamble ?

(1) 36* Amendment ‘ . (2) 42" Amendment

(3) 520 Aménd’ment (4) 66" Amendment

diaeam & fpd dee aR gwe ¥ @efie’ ae @a:ga? T &l ST T ?
(1) 364 Haiteas (2) 42ai Hened |

(3) bH2di dnuw : (4) 56ar M

BLBHJ-EE-June, 2025-Code-B  (15)
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61. | Which of the following is the largest Harappan site ?
(1) Mohenjo-daro (2) Lothal
(3 Rakhigarhi (4) Kalibangan
W@ﬁﬁéﬁq-wwﬁa@ww%?
(1) #eT S (2) e
(3) ErEl @ RISICRE
62. | Which of the following was the immédiate cause for the outbreak of revolt
of 1857 ? N
| (1) Abolition of Sati - ; (2) Introduction of greased cartridges
1 (3) Remarriage of Widbw : (4) None of the above -
1857 % Rl & oo @ & Red Pt 8 & F-aT AR BT @
Q) w o E SR () g SR T e
@) famar @1 fRaE (4 SR ¥ A A
63. | Which dynasty is known for its exteﬁsive. rock-cut architecture and c;
temples ?
(1) Mauryan | _l - (2) Satavahana
1 @B) Gupta | | :  (4) . Kushana

P-TT oS S AN TLE-BIE ARGHAN A TH ARY B Y e e B 7
W A 2) |wEET

@ ™ | (4) T

BIBHJ-EE-June, 2025-Code-B _ (16)
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L "~ 64. | Where did Buddha give his first sermon ?

(1) Lumbini (2) Bodh Gaya

(8) Sarnath ' (4) Kushinagar
IS 3 T TN IR e Ry 7

(1) gl B (@ @
(3) W™ B (4) FHATR

The statés created in 1960 were : |

(1) Maharashtra and Gujarat (2) Orissa and West Bengal
(3) Rajasthanand 'Gujarat» (4) Punjab and Haryana :
1960 ¥ FiHd =g & : | |

(1) HeRTE @ ERE () oM T Rew S
(3) TSRAM T IoRIE @) O @ e

Who delivered fhe ﬁrst-Speech “Tryst with de.stiny”? ‘

(1) Dr.S.Radhakrishnan  (2) PanditJawaharlal Nehru
(8 SardarVallabhbhai Patel (4) Dr.Rajendra Prasad
fhe gear wer ‘Frafy & Wy de far ar ?

| (1) Sf. Td. TuEEHE (2) Ufed SamEa AeE

E (3) WER awd T 2 .(4) f. [ IR

BLBHJ-EE-June, 2025-Code-B  (17)
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67. | Which one of the following is the main objective of ‘Jal Kranti Abhiyan™® L
(1) Percapita water availability assurance
(2) Rain-water harvesting
(3) Conservation of water resources
(4) Providing sufficient water for agriculture
ST I S e Sgaed Pl 7 Q@ w-ar @ 7
(1) 97 AT ST IqqeErar engara
(2) auf S Hwewr |
(8) ST HATEH! HT AR
(4) @%ﬁﬁqqﬁwwﬂm |
68. | Which was the first Census ‘year of British India ?
(1) 1891 | (@ 1941 |
(3) 1881 @ 1911
Bfest 9Ra @1 e SRR ad A o 2
1@ 1891 , 2) 1941
@ 1881 (@ 191
69. | Z Morh Tunnel is located in which state/UT ?.

(1) Sikkim (2 Arunachal Pradesh
3) Assam | (4) Jammu and Kashmir
7% iz o P o/ SR SR R orRa 3 7
1) fafee | @ T R
(3) owM (4) S 7 Fod

BLBHJ-EE-June, 2025-Code-B  (18)
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70. | Which of the following town is not located on the banks of a river ?
(1) Patna (2) Kolkata
(3) Bhopal (4) Agra
Freifafed 3§ @ &F-a1 AER Bl 9 & R eraRea 7@ 8 ?
(1) e | 2) Frem
(3) | (4) T
71. | How many individuals were honoured with the Padma Vibhushan Award in
20257
M 4 @ 5
3 7 4. 9
2025ﬁm%ahﬁa%wﬁsﬁwwawﬁﬁmw?
@ 4 @5 .
L ® 7 @ 9
~72. | Which of the following gésés helps in bread/cake fermentation so as to

make it soft and spongy ? " | |
(1) Carbon monaxide (2) Carbon dioxide
(3) Nitrogen oxide 4) Sulphur dioxide

ﬁwmaﬁﬁﬁﬁiﬁﬁﬁag/#ﬁ%ﬁwwﬁmm%m@wwmﬁ
AT S G 7 .

BLBHJ-EE-June, 2025-Code-B
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73. | Which of the following cell organelle is present only in plant cells ?
(1) Lysosomes (2) Plastids
(3)  Cell membrane (4) Plasma membrane .
R & & - e oims e aaw AR ¥ o o 3 7
1) ST (2) wifegd
@) PRE Rt (@) R
74. | Electric bulb filament is made of :
(1) Copper | ' | (2) Tungsten -‘
3) Alummum L (4) Nickel
O WwH (g s
(3) TFET @ @ P
75. In ﬁreworks,} greén flame is produced because of :
(1) l‘SOdium _ - _(2)' Potassium
(3) Chlorine " .(4) Barium |
A 78 e o A R
(1) difegq & R - (2) uelry § Hrop

(8) FE & &R @ A 3 Fror

{:= |

- BLBHJ-EE-June, 2025-Code-B _ (20)
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76. | The wavelength of visible spectrum is:
(D) 8500-9800 angstrom (2) 7800-8000 angstrom
(3) 3900-7600 angstrom (4) 1300-3000 angstrom
geg guimd @ aRE R
(1) 8500-9800 SR (2) 7800-8000 STTEH
(8) 3900-7600 I (4) 1300-3000 TRH
=7. | The Al Action Summit 2025 was held in which of the following city ?
(1) New York (2) Paris
(3) Geneva T (4) : New Delhi
T o M AR 2025 el & e el 7 g
(1) = I o 2) %rrw
(3) SfFa (@) TR R
78. | Kamla Persad-Bissessar has beén ele'cted.as. prime minister of which country

in April 2025 ?

(1) Barbados . (2 Cuba

(8) Trinidad and Tobago (4) Jamaica
aﬁazozﬁmmﬁ@wﬁméw%qwﬁﬂ%wﬁgﬁrw%?'
(1) aREEE | (2) T | |

3) fafrem ol aam (4) SAEH

BLBHJ.EE-June, 2025-CodeB _ (21)
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79. | Who became the first Kannada writer to win the Intern

Prize?

(1) Kuvempu 2) U.R.Ananthamurthy

(3) Girish Karnad (4) BanuMushtaq

aimf@qgwgwmsﬁﬁ%amﬂmmawﬁﬂﬂ?

(1) FY @ 3 el

=

3) Frler #wrs | (4 9 .gsaﬁa

80. | Which badminton players received the Majdr Dhyan Chand Khel Ratn
Award in May 2025 ? - .

(1) P.V. Sindhu and Saina Nehwal

(2) Satwiksairaj Rankireddy and Chirag Shetty

(3) Kidambi Srikénthénd Laksi1yé Sen

(4) Sameer Verma and Parupalh Kashyap
@2025ﬁﬁm%ﬁm@wﬁﬁ%%wm@awmmm?
(1) Gr.dr. fdyg qar @@ e

(2) wifaBaATEIST mﬁ%ﬁr e R e

3) Frr e @ @ |

| @) IR auf qu T By = J
BLBHJ.EE-June, 2025-Code-B __ (22)
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81.

(Reasoning)

A tank is fitted with two inlet pipes, Pipe A and Pipe B. Pipe A can fill the
tank in 12 hours, and Pipe B can fill it in 20 hours. There is also a waste
pipe that can empty the full tank. If all three pipes are opened together,
the tank gets completely filled in 15 hour. How long will the waste pipe
take to empty the full tank ?

(1) 10 hours (2) 15 hours

(3) 18 hours (4) 20.hours.
Qﬂ%%ﬁa’rq@qﬁ,m@AaﬂrmBlwA%ﬁ125i%i7m'cﬁ%|tn§qB%’as
& 20 62 § el 31 w% ol A% Ty ¥ S ¥F B @l B G 8 | PR Al Y
@w@aama}%mwﬁﬁw%lwq@%qﬁ@rﬁﬁmﬁmmm
(1) 1042 : (2) 1582

(3) 18Hd. (4) 20%e

82.

The Rajdhani Express runs at a spéed of 90 km/h. It starts from a station

6 hours after a goods train leaves that station. The Rajdhani overtakes the
ain 6 hours after it starts. ‘What is the speed of the goods train ?

goods tr
(1) 50km/h (2 45km/h
(3) 40km/h ~(4) 30km/h

Wﬂﬁﬁ@ﬁﬁ%W./ﬂaaﬁﬂﬁrﬁaﬁ?ﬁ%laa@émaw@%maﬁ
%6@%%%1?@%&%@%%@%%6@%3@,@%3@

3| qerTe B oM MR
(1) 50t /e C(2) 45 feHLEe .

(3) 40 ft. /8 (4) 30 Fpeft. efer

BLBHJ-EE-June, 2025-Code-B 7- (23)
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83.

| -digit numbers that cay
Find the sum of the digits in the unit place of all 4 digit n

| ' . tition.
be formed using the digits 2, 5, 6 and 7 without any repe

(1) 144 (2) 136
(8) 120 (4) 156

3% 2, 5,6W7WWWWWAW%WWWWW
4aﬁaﬁwﬁ$mm%ﬁﬁmmmﬁml

(1) 144 (@ 136

® 120 @) 156

—

84.

What should come in the place of X in the following number series ?
4,10, 7, 16, X, 22

© 19 | @ 20

ﬁwm’iﬁm’?X%wwwm~m?

4,10,7,16,X,22

3) 19 - @ 2

BLBHJ-EE-June, 2025-Code.B (24) R —
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85. | In a group of three friends-Ravi, Raj and Ramesh-it is known that Ravi is
taller than Raj but not as tall as Ramesh. Based on this information, if we
compare the heights of all three individuals, who among them is the talllest?
(1) Rawi (2) Raj
(8) Ramesh - (4) Cannot be determined
diF Rl X, I SR VAN B u g ¥ 98 A6 § R W@ qw § @ & Al @
R e 78 B 1 39 M) & SR W, Al &W Ml st B Heng B e B
& o A B 9w B
D y @ ™
@ W@ . @ ﬁrafﬁﬁ T e ST
86. | IF TODAYi is coded as UPEBZ how is EXAM coded ?
(1) FYBN el (29 EWBM '
3) FYAN g _ (4) FXAN
qﬁTODAYEﬁUPEBZﬁi@TW%éTEXAMa%mW%@TW?
(1) FYBN | (20 EWBM .
(3) FYAN : (4 FXAN
87. | If a dice has faces numbered 1 to 6, and 1t is rolled twice, “how many total
outcomes are possible ?
1) 12 / (2) 36
(3) 18 @) 24
I @ T W 1 q 6 T FHAfGT How & SN W A SR Bl S @, @ P Fberd
qRom §9a 8 7
| 3) 18 @) 24

'BLBHJ-EE-June, 2025-Code-B (25)
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s drawn at
A bag contains 4 red, 5 green and 6 blue balls. If one ball 1s dr

88.
random, what is the probability that it is green ?
(1) 5/16 2) %
3) 1/ : 4) 1/3
@ &7 F 4 @, 531%@16%&%@1%@@@%3@%@
T a2 5 @ e A7 .
1) 5/16 @) %
@) 15 ' (@) 13

89. | A card is drawn from a well-shuffled deck of 52 cards. What is the probability
of drawing a King or a Queen ? '
1) 426 | 2) 8/54
() 113 o (4) 2052
qﬁﬂ@-aﬁmé'%ﬁﬁ*@ﬁﬁ@wmw%lwmﬁﬁmﬁ

| @ e w®T R &0 | ‘

(1) 4/26 : (2) 8/54
3) 1213 | 4) 2/52

90. | Ifthe cost price of 20 articles is equal to the selling price of 18 articles, find

the profit or loss percentage.

(1) 10% profit | (2) 10% loss

(3) 11.11% profit (4 11.11%loss

gfe 20 aEGA F1 B9 Ied 18 TEGET B f5hd 9o & WER R, & @ o iy ghygr o
I | |

(1) 10% ™ (2) 10% =iw

(3) 111%™ @) 11.11%af

BLBHJ-EE-June, 2025-Code-B (26) I
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P omtmo to a man, a woman says, “He is the son of my grandfather s only

son”. How is the man related to the woman ?
(1) Father (2) Brother
(3) Son (4) Cousin

U Sl B X FART A gu, o AR Fed 2, "aE B T B TR T ;A
21 9 STl R | fra R GeRE 2

(1) far | (2) %
() s @ e

Ais the father of B and Bis the brother of C. How is C related to A ?

1) F athe1 . (2) Mother

(3) Son/Daughter (4) Brother
A,Bwﬁm%eﬂTB,Cﬁﬂé%ICmAﬁwﬁa%?
(1) fomr @ T

@) FaAd @ e

A man Walks 5 km north, then 3 km east then 5 km south How far is he

| from the starting point ? :

1) 3km | () 4km
3) 5km 4) 8km
T oeHt 5 Al IR @l o, Y 3 Bhfl. od &Y oy, e 5 Relt. aferr @ o
AT &1 98 RN g @ fobel gt W ?
(1) 3 At (2) 4 f&.H.

(3) 5 B4 (4) 8 ..

| BLBHJ-EE -June, 2025-Code-B  (27)
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, ccd
y in which they ©

94. | Arrange the words in the orde '
(A) Artist (B) Artificial
(C) Articulate (D) Aritisan.
Options:
1. B, C D, A
2. C, A B, D
3. B, D, A C
4. C, B, D, A ,
o @ o AW § aRad X Rrad 3 g § o €
ey - |
(%) Artist (@) Artificial
() Articulate (%) Aritisan
1. @ 7, 9 % o
2. T, ®/, G q
3. @ 9 & T
14. 9,9, 9 & :
95. When a dice is rolled, What is the probability of getting a number grea
than4? .
1) % 2 1/6 (3) 1/3 - 4 2/3
ST T U G ST R, o 4 @ a9) e o 4 guiaey @y 7
(1) % (2) 1/6 3 13 @ 23
96. | If some pens are books and all books are pages, then some pen?ﬂl

deﬁmtely

(1) Pages - (2) Books

(3) Not pages (4) None of the above

i 8 U o € Sl a9l R O &, ?ﬁ@wﬁ:{ﬁmma%
1) @) fae

(3) s T (4)3@,%,}@%@

BLBHJ-EE-June, 2025-Code-B
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97.

Two numbers are more than a third number by 20% and 50%, respectively.

The ratio of the first two numbers is
1) 24 (2) 3:5
3) 4:5 (4) 5:7
& Tt o dEd dew A 20% gﬁwso% STt 3, weeh &1 deel 1 ST 1 ¥ 7
W 24 @ 85 |

3) 45 | ) 57

98.

Identify from the options given below the unwritten number (?) in the

series ? 180, 60, 15, 3

(1) 180 (2) 300

(3) 360 | 4) 320
ﬂ%mmﬁaﬁfﬁﬁ@.eﬁ@aﬁw@)aﬁq@aﬁq?“

180, 60, 15, 3

(1) 180 (@) 300

(4) 320

3) 360

BLBHJ_EE-June, 2025-Code-B  (29)
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99, | Two different positions of the same

at the top if 4 is at the botton ?

1) 3 2) 6
@ 5 @ 1 |
@éﬁmﬁaﬁ‘rw-mwméné%qﬁwhﬁ%

Sl

1) 3 @ 6
3) 5 @ 1

3 B o e SR e

100. | A certain number is first increased by 95%, and then the resulting number|

is decreased by 90%. What is the net percentage change in the original

number ? .
(1) 5% increase ~ (2) 5% decrease
(3) Nochange (4) 10% decrease

Q%ﬁﬂﬂﬁﬂ'@ﬁ@25%#{@@@%3%%@@@%20%@%
1 I B g den g e g R ?
1) 5% 2) 5% FHI
(3) @ uREd Tl (4) 10% i
BLBHJ-EE-June, 2025-Code-B  (30)
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against him / her, in addition to lodging of an FIR with the police. Further the .
answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by
the candidate. '

4. Question Booklet along-with answer key of all the A,B,C and D code shall be got -
uploaded on the University Website immediately after the conduct of Entrance
Examination. Candidates may raise valid objection/complaint if any, with regard
to discrepancy in the question booklet/answer key within 24 hours of uploading
the same on the University website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no
complaint in any case will be considéred.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
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1. | Which of the following is not exclusively a crime ?
(1) Theft (2) Trespass
(3) Murder N C/Y) Kidnapping
Frfafad § @ SF-91 oF €9 | UH SNy 7 § 7
1) =@ 2) eTRER
@ ' 4) TR
2. | Which part of the Indian Constitution deals with Fundamental Duties ?
(1) Part-III (2) Part-IV
(3) Part-IVA (4) Part-V
IRE GREH A A A Fe § aekad § 7
(1) w111 . (@) WV
3) w-IV A | (@) WV
3. |Inlaw, what do you understand by the term, ‘Estoppel’?

(1) Prohibiting someone from committing a crime

(2) A person cannot deny what, he has previously stated
.(3) Right to sue in a civil court

(4) Right to be heard

P 7 o s o § 1 e § 7

Q) Reft @ emwg A @ B

@ @ afK w B T AW § TR Tl B FEA

1 @) Rifew e 3 T F AR

@) ¥ TR F AR

BLBHJ-EE-June, 2025-Code-C (1)
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4,

Which Article of the Indian Constitution deals with the Uniform Civil Code?
(1) Article 32 (2) Article 44

(3) Article 21 (4) Article 370

AR GRUE P B SFEE G AN dedr @ waed § 7

(1) oeT 32 @) orgedT 44

(3) 9rgeET 21 (4) oT=% 370

What is the meaning of the legal maxim “Res ipsa loquitur”?
(1) The thing speaks for itself

(2) Let the buyer beware

(3) To stand by decided matters

(4) No one is above the law | |

Riftes FerEd @ 3T difteT & 7 A 7 7

O g adE (2 GkR e @

(3) @@ Al W BEH T (4) T q FW T &

A pérson who is arrested and detained in custody must be presented before

a magistrate within how many hours ?

(1) 12hours (2) 24 hours

(3) 48 hours (4) 72 hours

v o 7 e e 7 ot e ) Pt o % o AT R |

fpar ST =nfed ?
(1) 1292
(3) 4842

@) 24HS
(4) 726

BLBHJ-EE-June, 2025-Code-C  (2)
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7. | If & minor enters into a contract for purchase of a mobile phone,
what would be the status of such a contract under the Indian Contract
Act, 18727
(1) Void ab initio (2) Voidable
(3) Valid and enforceable (4) Voidable at the option of the minor
i A iR Naga w9 @i & [A oFEE R g, O KA SrgHy A,
1872 % ar<ria Q@ orgay I Refy @ @i ?
(1) oy A & e (2) STRIHTN
(8) Ay qur Hag (d) FTEIRET @ [ W SR

8. | Which one of the following is guar anteed as a fundamental right under the
Constitution of India ?
(1) Right to vote (2) Right to constitutional remedies
(3) Right to strike (4) Right to property
fFrfofae & & @-a1 IR & d@fu™ & sfwla Mfos ARl & &9 F gEng @ ¢
(1) =M & SR (2) WAy ITERT H AR
3) B H HEHR . (4) TUR F AUER

9. | What is the title of the writ issued by a court to restrain a person from

holding a public office to which he is not entitled ?
(1) Habeas Corpus (2) Mandamus

(3) Quo Warranto (4) Certiorari
Wmﬁwmﬁmwmmam%mm%mﬂﬁ%

RMARE g] S Re @ ofds @ dan @ 7
(1) & geefiete (2) WHRY

(3) N¥HR gear (4) I
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The doctrine of ‘Rule of Law’ is primarily agsociated with which of the

10.
following ?
(1) Karl Marx (2) Montesquieu
(3) Aristotle (4) Dicey
“W%sm”mmaﬁg@mﬁﬁmﬁﬁf@aﬁ@mma@a%?
1) @ ARt | (2) AT
@ o () T
11. | The Indian Penal Code, 1860 has been replaced by which of the following

| laws ?

1) «wRdig amfe g wied, 2023

(1) Bharatiya Dand Sanhita, 2023
(2) Bharatiya Nyaya Sanhita, 2023

3) th}igatiya Nagarik Suraksha Sanhita, 2023

(4) Bharatiya Sakshya Adhiniyam, 2023
e qve diedT, 1860 @1 Freiiad § @ fea FH ER OkwEiE R g 7

(1) ¥RGE &vs gfedr, 2023
2 qRAIg 9™ giedr, 2023

@) TREE @ SfREE, 2023
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12.

Which of the following is a crime in India ?

(1) Adultery (2) Sedition

(3) Defamation (4) Homosexuality
Fr=ified & @ $iF-a1 ARG § e € 7 '
(1) SREE (2) TTRE

3) AT (4) FiRTEHT

18,

The concept of “Basic Structure” of the Constitution was laid down in which

landmark case ?

| @) A.K.Gopalan v. State of Madras

(2) Kesavananda Bharativ. State of Kerala

3) Golaknath v. State of Pubjab

(4) Minerva Mills v. Union of India

wRam & “qm g @ orauren B e aw § FeiRa @ o
(1) TH. MU W 756 T (2) SR AR T T4
(3) AT S9MH GSIE T (4) el e a9M ARG |9 |

14,

The ownership of patents, copyright and trademark is known as-
(1) Corporeal ownership (2) Incorporeal ownership

(3) Equitable ownership 4 Contiﬁgent ownership

N}, PAREE G ANR 8T F W@ ST S 8

| Q) <Gt @ & &9 J (2) ot @i & w0 A

B) IHET W B (4) TEeE @i $ a9

BLBHJ-EE-June, 2025-Code-C  (5)
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15. | What do you mean by ratio-decidendi of a case ?
(1) Order of the court in the particular case
(2) Final decree pronounced by the court
(8) Underlying reason or principle forming the basis of judgement
(4) The bersuasive part of judgement
Rl a3 folg & TR @ oG AN ® 7
(1) R a© § Ay #@ TR
(2) EEE &N it e Fef |
3) Frfg 1 ST S T SRR BT A R
@) fofg &1 3
16. | The vicarious liability of State for the wrongs committed by its servants is

contained in which Article of the Constitution ?
(1) Article-297 | - (2) Article-298
(3) Article-299 (4) Article-300

mmm@mm%mmmmﬁmmmm%ma@a
A PR 3 7 |

(1) IgER-297 ) 313,333-'298
(3) erg=R-299 (4) TEE-300

BLBHJ-EE-June, 2025-Code-C (6)
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17. | Inlaw, dislocation of a tooth amounts to which of the following crimes ?
(1) Simple hurt (2) Grievous hurt
3) Cx‘ixﬁinal assault (4) Criminal force
Wﬁ,mmmﬁﬁmﬁﬁ@mama%mﬁﬁm%, '
(1) |ER = (2) TR =
(3) SN BHA (4) SMUEE T

18.

Right to shelter was recognized by the Supreme Court as a part of Right to
life under the Constitution of India, in which of the folloiwng cases ?

(1) Olga Tellis v. Bombay Mﬁnicipal Corﬁoration ‘
(2) Vishakha v, State of Rajasthan

(3) M.C. Mehta v. Union of India
(4) Prem Shankar Shukla v. Delhi Administration

g 3 SRR F UG DGR & ded ofad & SfER & T A F B9 F A
R &R A & T, R § & e ae | |

(1) 3iem 2R I g GRRE R
(2) fgmaEr g9M [ERE T |

(3) uq d Agdl M ARA TH

(4) I g AT S el weme

BLBHJ-EE-June, 2025-Code-C  (7)
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19. | Which of the following statements is correct relating to Jegal age of m arriage

in India ?
(1) 16 for girls and 18 for boys

(2) 18 for both boys as well as girls

(3) 18 for girls and 21 for boys

(4) 21 for both boys as well as girls

ot ¥ P ) R o @ et g e A & A
(1) TSR $ RA 16 @ e @ i 18

0 TGRS

@) wehel 3 [l 18 T JgH @ fd 21

(4) T qUT aEH ANl @ Rid 21

20.

By which Amendment of the Constitution, were the terms ‘socialist’ and

‘secular’ added to the preamble ?

(1) 36" Amendment | ) 42" Amendment

(3) 52 Amendment (4) 66" Amendment
Hﬁm%mﬁsﬁaﬁmmﬁmﬁ ‘Aiee’ q BRI o ) el T
(1) 36 HMTT (2) 423 ghew

@ 5w @ oea

. BLBHJ-EE-June, 2025-Code-C  (8)
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21. | Which of the following is the largest Harappan site ?
(1) Mohenjo-daro 4 * (2) Lothal
(3) Rakhigarhi (4) Kalibangan
Frefoiad & @ A-a1 Tod o971 geud w8 7 |
1) e s (2) e
3) (4) el
22. | Which of the following was the immediate cause for the outbreak of revolt
.0f 1857 ? |
(1) Abolition of Sati (2) Introduction of greased cartridges
(3) Remarriage of widow (4) None of the above
1857 % fasie & o 8 & ford Freafefed § @ iF-ar ik HIReT o ¢
(1) & @) HigE FRGE B S H AR
(3) fauar @1 GAfdare (4) ST F | Py T
23. Which dynasty is known for its extensive rock-cut architecture and cave
temples ?
(1) Mauryan (2) Satavahana
(3) Gupta (4) Kushana ‘
| - T G A0 TEE-HE aregeRe T ARl & R e o § 7
(1) 5 (2) WA
@) T« (4) FET

'BLBHJ-EE-June, 2025-Code-C__ (9)
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24. | Where did Buddha give his first sermon ?
(1) Lumbini (2) Bodh Gaya
(3) Sarnath (4) Kushinagar
g% A GO wgH IR FE a7 |
(1) gqfer (2) @g ™
(3) R (4) AT
25. | The states created in 1960 were :
(1) Maharashtra and Gujarat (2) Orissa and West Bengal
(3) Rajasthanand Gujara£ (4) Punjaband Haryana
1960 & ffifq 7= & : '
(1) TeRmsg qur Jaad '(2)G$Tmamqﬁaqdw
(3) TSI Ul ORI (4) ©ea e sfemm
26. | Who delivered the first speech “Tryst with destiny”?
(1) Dr.S. Radhakrishnan (2) PanditJawaharlal Nehru
(3) Sardar VallabhbhaiPatel (4) Dr.Rajendra Prasad
Rrga ween wor ‘frafy & @y de far o ?
(1) -3f. Tq. TERTH (2) Ufed SR e
(3) TR T 91§ Ted @) . TE e

BLBHJ-EE-June, 2025-Code-C  (10)
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Which one of the following is the main objective of ‘Jal Kranti Abhiyan'?

217.
(1) Per capita water availability assurance
(2) Rain-water harvesting
(3) Conservation of water resources
‘| (4) Providing sufficient water for agriculture
ST il AR B gEd SgRed PR d @ @A g 7
(1) ufd =ik S IUeeE SNLara '
(2) Jui ST GAET
(3) T ATl H HTE
(4) T P A @ ST Iuerey H
28. | Which was the first Census year of British India ?
(1) 1891 (2) 1941
(3) 1881 (4) 1911
ffesr ARG 1 o SO g9 dI-ar o ?
(1) 1891 @) 1941
(3) 1881 (4) 1911
29. | Z Morh Tunnel is located in which state/U T
(1) Sikkim (2) Arunachal Pradesh
(3) Assam (4) Jammu and Kashmir
T Hig oA fE To/d% qfd Wy 7 eraied & 7
1) Fafeen (2) oTEUEN WY
(3) o (4) 9 9 FHER

BLBHJ-EE-dune, 2025-Code-C  (11)
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(1) Carbon monoxide (25 Carbon dioxide

(3) Nitrogen oxide (4) Sulphur dioxide

frafifad & @ 29 9 38 335/3% & e & e e ¥ A 38 T qun el
CEICI T | I E |

(1) FT HAES - (2 FET SRS

(3) T Sl (4) T SRR

Code-C
Q“i’,s;’.i““ Questions
30. | Which of the following town is not located on the banks of a river ?
(1) Patna (2) Kolkata
(3) Bhopal (4) Agra
Prffer §f @ a1 9T R T @ R orafted T E 7
(1) g (2) i
(3) s (4) ST
31. | How many individuals were honoured with the Padma Vibhushan Award in
20257
1) 4 @ b5
3) 7 , 4 9
2025 % P GVl ) Oz Rl G & @ R T 7
1) 4 (2) 5
@3 17 4 9
39. | Which of the following gases helps'in bread/cake fermentation so as to

make it soft and spongy ?

BLBHJ-EE-June, 2025-Code-C (12)
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33. | Which of the following cell organelle is present only in plant cells ?
(1) Lysosomes (2) Plastids
(8) Cell membrane (4) Plasma membrane
Frfiied 7 & -1 BRI 3 daw q@y B § g s
(1) EEEs @) wiiegd
@) e R (4) e Rl
34. | Electric bulb filament is made of :
(1) Copper (2) Tungsten
(3) Aluminum (4) Nickel
R aca &1 dg & 8 @
(1) qd F (2) A H
@3) wghHFEd @ @) e W
35. | In fireworks, green flame is produced because of :
(1) Sodium (2) Potassium
(3) Chlorine | (4) Barium
anfagraret &l vawn o= A @
(1) difegn & e (2) IR % FRT
3) T & FRT (4) AW & FRO

BLBHJ-EE-June, 2025-Code-C = (13)
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36. | The wavelength of visible spectrum 1s :
(1) 8500-9800 angstrom (2) 7800-8000 angstrom
(3) 3900-7600 angstrom (4) 1300-3000 angstrom
3@ U A TR B
(1) 8500-9800 ST (2) 7800-8000 STFRLH
(3) 3900-7600 STEH (4) 1300-3000 SHREH
37. | The AI Action Summit 2025 was held in which of the fbllowing pit)' ?
(1) New York (2) Paris
(3) Geneva (4) New Delhi
T o e aRe 2025 Freiag § @ B T R
1) | - @) WRE
@ @ R
38. | Kamla Persad-Bissessar hasbeen elected as prime minister of which country
in April 2025 ?
(1) Barbados (2) Cuba
(3) Trinidad and Tobago (4) Jamaica
aﬁazozsﬁwmmaﬁﬁmésr%wmﬁ%mﬁgmw%?
(1) TR @ T
(3) ffem iR a3 (4)

BLBHJ-EE-June, 2025-Code-C (14)
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39. | Who became the first Kannada writer to win the International Booker
Prize?
(1) Kuvempu (2) U.R.Ananthamurthy
(3) Girish Karnad (4) BanuMushtaq
S g R S A S Hg qad I I 7
(1) FY ~ (2) Y., FaErd
(3) Py ®MiE (4) 9 JKH

40. | Which badminton players received the Major Dhyan Chand Khel Ratna

Award in May 2025 ?

(1) P.V.Sindhuand Saina N ehwal

(2) Satwiksairaj Rankireddy ahd Chirag Shetty

(3) Kidambi Srikanth and Lakshya Sen

(4) Sameer Verma and Parupalli Kashyap

7¥ 2025 § Ret Jefe Raaiedl 7 AR @ = T T JRER W9 G 7
(1) d.dr. fdy qen aE e

(2) TiEEEEE TEREE @ RRA 9

(3) faarl STy e e B |

(4) Wi 7 F q5qe! BT

BLBHJ—EE-June, 2025-Code-C  (15)
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(General English)
41. | Terse (Give Synonym) '

(1) brief in speech 2) beyqnd fear

(4) under strain

(3) without honor

42. Tenacity (Give synonym)
(1) perseverance (2) decimation
(3) splendor (4) ingratitude

43. | Select the most appropriate nieaning of the given idiom : Hale and hearty
(1) Strong and healthy (2) Angry but happy
(3) Clumsy and calm (4) Weak andill

44. | Select the most appropriate meaning of the given idiom : In a nutshell
(1) Very briefly (2) Extremely pale
(3) Under protection 4) Withoﬁt delay

45. | Select the correct passive voice of the given sentence :

Who can question Gandhi’s integrity ?

(1) By whom can Gandhi’s integrity be questioned ?
(2) By Whom Gandhi’s integrity can be queétioned ?
(3) Gandhi’s integrity can be questioned by whom ?
(4) Who could have questioned Gandhi's integrity ?

. BLBHJ-EE-June, 2025-Code-C  (16)
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46. | Select the correct passive voice of the given sentence.
He presented me a bouquet on my birthday.
| (1) Iwas presented a bouquet on my birthday by him.
(2) Abouquet is presented to me on my birthday by him.
(3) Iam presented on my birthday a bouquet by him.
(4) I will be presented a bouquet on my birthday by him.
47. | Ifhe had gone to Agra, he .......... the Taj Mahal. (C‘hoose the correct option)
| (1) would have seen (2) saw |
: 3) 'had been seen (4) have been seen
{
48. | The boy ............... came to see me this morning had come from Agra.
: A (Choose the correct opfion)
{ (1) WI’IIO. (2) ‘which |
il (3) that (4) whom
E 49. | His path was beset ............... difficulties.
'(1) with (2) within
(3) among (4) by
50. | I have resigned myself ....... my fate.
(1) to (2) with
(8) on (4) at

BLBHJ-EE-June, 2025-Code-C  (17)

B R T T T Y R IR




SET-X
Code-C

Question
No.

Questions

51.

Select the alternative that shows a similar relationship as the given pair-

Impulsive : Impromptu

(1) Flawless: Impeccable (2) Moderate : Increase

(3) Perpetual : Transitory (4) Resistant: Receptive

52.

Select the sentences that has no spelling errors :

(1) The mall road of our city is always teeming with street vendors

(2) The mall road of our city is always teyming with street vendors

(3) The mall road of our city is always timing with street vendors

(4) The mall road of our city is always tyming with street vendors

53.

Select the most appropriate antonym of the underlined word :

He was riding his bike on a bumpy surface.
(2) Jerky.

(4) Steady

(1) Uneven
(3) Choppy

54.

Select the option that can be used as a one-word substitute for the underlined

part of the given sentence. Dogs are known for being faithful.

(1) Fidelity ' .(2) Honesty
(3) Creditability (4) Genuineness

55.

Select the antonym of to abnegate
(1) to admit (2) to eject -
(3) to evict (4) to bounce

BLBHJ-EE-June, 2025-Code-C (18)
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56.

Choose the sentence with correct subject-verb agreement :
(1) The committee has decided on the date.

(2) The committee have decided on the date.

(3) The committee are deciding on the date.

(4) The committees decides on the date.

57.

Select the sentence with an incorrect plural form :
(1) Ibought two loafs of bread

(2) The geese are flying south

3) We saw several mice in the barn.

(4) She has many books

58.

Select the sentence that correctly uses a gerund :
(1) Ienjoy swimming in the ocean |
(2) Ienjoy to swim in the ocean

(3) Ienjoy swim in the ocean

(4) 1 enjoy to swimming in the ocean

59.

Choose the correct sentence :
(1) Neither of the lawyers has presented their argument

(2) Neither of the lawyers have presented their argument
(3) Neither of the lawyers have presented his argument

(4) Neither of the lawyers has presented their arguments

60.

Fill in the blank with the correct phrasal verb :
many challenges during implementation.

-(2) bring about

The new law will surely ............

(1) runinto

(3) come across (4) take over

BLBHJ-EE-—June, 2025-Code-C (19)
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61. | A tank is fitted with two inlet pipes, Pipe A and pipe B. Pipe A can fill the

0 hours. There is also a waste

tank in 12 hours, and Pipe B can fill it in 2
ened together,

pipe that can empty the full tank. If all three
the tank gets completely filled in 15 hour. Ho
take to empty the full tank ?

(1) 10 hours () 15hours
(3) 18 hours (4) 20 hours _
o ¥ 7 9 7=y £, 9RY A oK ugY B UET A &6 15 & § 9 21 Y B &F
zﬁrzoa‘%ﬁwﬁ%w@ﬁwq@%vﬁﬁﬁ@ﬁmm%lmﬁm
WW@H&TW&T%B@ﬁW%IWW%@@WﬁWﬁWW
e ? - e o

(1) 109 . (2) 1bdd
(3) 1842 4) 20

pipes are op
w long will the waste pipe

62.

The Rajdhani Express runs at a speed of 90 km/h. It starts from a station
6 hours after a goods train leaves that station. The Rajdhani overtakes the
goods train 6 hours after it starts. What is'the speed of the goods train ?

(1) 50km/h (@) 45km/h
(3) 40km/h (4) 30km/h

T T 90 ﬁm./ﬁaqﬁﬂﬁf@aﬁ%iwwﬂmam%maﬁ
%Gdﬁaﬁaﬁ%lwﬁ,m%.ﬁw@ﬁ%6ﬁaﬁmﬂﬁﬁﬁmﬁ

3| qrerel W R H;E 7 4
(1) 50 fHt. /8er (2) 45 ﬁmﬁ./a‘a
(3) 40 feHl. /8eT (4) 30 Tt /e
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63.

Find the sum of the digits in the unit place of all 4-digit numbers that can
be formed using the digits 2, 5, 6 and 7 without any repetition.

(1) 144 : (2) 136
3 120 - ' (4) 156

3% 2, 5,6@17%@%%{%%%@@%%@3‘31@3@@

| 4 s demel & R wE $ ofF @ A T FINTC

(1) 144 ' (2) 136

(3) 120 5 (4) 156

64.

What should come in the place of X in the following number series ?

4,10, 7, 16, X, 22
1 10 2 13

3) 19 ' 4) 20

Rrefefae wem e § X & @I T F S el !
4,10, 7, 16, X, 22 |

1 10 @ 13

(3) 19 @2

BLBHJ-EE-June, 20'25-Code—C (21)
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——————— \

amesh-it is known that Ravi ig

65. | In a group of three friends-Ravi, Raj and R
taller than Raj but not as tall as Ramesh. Based on this information, if we
compare the heights of all three individuals, who among them is the talllest?
(1) Ravi @ Raj
(3) Ramesh (4) Cannot be determined }
?ﬁ?ﬁﬁﬁiﬁ,W@Tﬁﬂ-%@ﬂ@ﬁ%?ﬂﬁ%f?ﬁ@wﬁﬁ%aﬁﬁ Wy
PR S T 31 0 ST & omer w, AR g A A B SR @ ga B
o T q P el o 27
(1) W =3 © W
(8) W ' (4) freiRa =& e s

66. | IF TODAY is coded as UPEBZ, how is EXAM coded ?
(1) FYBN (2) EWBM
(3) FYAN (4) FXAN
gk TODAY & UPEBZ fan siar & @ EXAM &t Brg g foman o ?
(1) FYBN (2) EWBM
(3) FYAN (4) FXAN

67. | If a dice has faces numbered 1 to 6, and it is rolled twice, hbw many total

outcomes are possible ?
(1) 12 ‘ (2) 36

3) 18 4) 24
R O 9@ W 1 A 6 T FAfE b ¢ AR T A AR G o ¥, @ g B

g §9a & ¢
1) 12 (2) 36
(3) 18 4) 24
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68. | A bag contains 4 red, 5 green and 6 blue balls. If one ball is drawn at
random, what is the probability that it is green ?
(1) 5/16 2) %
3 s (4) 1/3
@ 3T F 4 @, 5 w0 A 6 AW B ¥ AR 1 T aghes wu @ PR o @ @
T FAEAT 2 B qe 50 & 7 o
(1) 5/16 @) %
3) 15 (4) 1/3
69. | A cardisdrawn from a well-shuffled deck of 52 cards. What is the probability
of drawing a King or a Queen ?
(1 4/26 (2) 8/54
3) .1/13 (4) 2/52
ﬁﬁ@@aﬁmﬁﬁﬁn@ﬁﬁ@wmwélwmﬁﬁmﬁ
o &= 8 7 ‘
(1) 4/26 (2) 8/64
3 113 . (4) 2/52
" 70. | If the cost price of 20 articles is equal to the selling price of 18 articles, find

the profit or loss percentage.

(1) 10% profit (2) 10% loss
(3) 11.11% profit (4) 11.11%loss
af 20 Fegell &1 F4 Tl 18 FEgell & fovky TR & AXER &, @ A @i e q
FHIFTT | |

(1) 10%<mH (2) 10% &I+
(3) 11.11% @ (4) 11.11%@

BLBHJ-EE-June, 2025-Code-C _(23)
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71.

- - . ?
Pointing to a man, a woman says, “He is the son of my grandfather’s only
son”. How is the man related to the woman ?

(1) Father (2) Brother
(3) Son (4) Cousin

AR F S W F g, O AR aed ¥, “9e R qw B i G A I
?71 98 el Wiewn q fhE yeR ddfE| 21 ,

(1) (2) 8 _
(3) %r (4) &
72. | A is the father of B and B is the brother of C. How is C related to A ?
(1) Father ‘ : (2) Mother |
(3) Son/Daughter - (4) Brother
ABHUMIINB CHALEIC o A Q T |9 8 ?
(1) o (2) T
() FaAd @) €8
73. | A man walks 5 km north, then 3 km east,.then 5 km south. How far is he

from the starting point ?

(1) 3km 2) 4km
(3) 5km (4) 8km
T Al 5 (5l I A e, MR 3 Bhaft. @ o o, fet 5 fR . a1 oK
Al 1 9 SR forg @ Rl i w R ?
(1) 3. (2) 4 4.
(3) 5B (4) 8 f5a.

BLBHJ-EE-June, 2025-Code-C (24)
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Code-C
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74. | Arrange the words in the order in which they occur in a dictionary.
(A) Artist (B) Artificial
(C) Articulate " (D) Aritisan
Options:
1. B, C D, A
2. C, A B, D
3. B, D A C
4. C, B, D A
=t H 39w F e H A T q=H T A L
freeT : - '
(F) Artist (@) Artificial
(M) Articulate (&) Aritisan
1. 4 T, 9, %
2. T, ®, G U
3. @ ° & T
4. T, G 9 &
75. | When a dice is rolled, what is the probability of getting a number greater
than4?
1) % 2) 1/6 3) 1/3 4) 2/3
ST UF OrET G o §, @ 4 @ a2 §ed o @ S g ?
1) ¥ @2 1/6 3) 1/3 4) 2/3
76. | If some pens are books and all books are pages, then some pens are

definitely :
(1) Pages
(3) Not pages

(2) Books '
(4) None of the above

(2) frad
(4) IWTd & § Fg T8

1) W=
(3) U &l
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77. | Two numbers are more than a third number by 20% and 50%, respectively.
The ratio of the first two numbers is :
(1) 24 (2 356
3) 45 4) 5:7
5 et wE S e & 20% G 50% SR 3, T & el B A A E !
1) 24 (2 3:5
(3) 4:5 _ 4) 5:7
78. | Identify from the options given below the unwritten number (?) in the

series ? 180, 60, 15, 3
(1) 180 @) 300
(3) 360 (4) 320

53 o o el A @ afEd de () @ T ?

180, 60, 15, 3
(1) 180 : (2) 300
(3) 360 (4) 320
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79. | Two different positions of the same dice are shown. Which numbers will be
at the top if 4 is at the botton ?
(1) 3 (2) 6
@ 5 @ 1
| @ﬁ@aﬁﬁm—wﬁmﬂfaﬁéﬂé%qﬁ4ﬁﬁ%ﬁ’raﬁﬁv&ﬁa'@rw@’ﬁ?
1 3 . @ 6
3) 5 4 1
80. | Acertain nuniber is first increased by 25%, and then the resulting number

is decreased by 20%. What is the net percentage change in the original

number ?
1) 5% increase (2) 5% decrease
(8) Nochange (4) .10% decrease

@ﬁﬁaaawfquﬁzma%qﬁmﬁm%eﬂrmqﬁvmwwﬁm%ﬁw
& o ¥ g e ¥ g ot gRew ®@v e ?
1) %I (2) 5% P
(3) HE aRREcH T (4) 10% FH

BLBHJ-EE-June, 2025-Code-C  (27)
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(General Hindi)
81. | wr=mfy wrg # H=-ar g ¢
(1) FHaE @) e
(3) ged d) @&
82. | ‘TF H wWHdaE G Bl
(1) 9% (@) T
@) (@) T @ 3
83. | ‘geEw g § HA-A I 8 iy
1 ™ . @ 3
®) ¥ @ T
84. | ‘@M 9= § W &N
(1) - (2) ST
(3) (4) @
85. | ‘gl F el IRy ¢
@). =t (2) I
(3) . Fafart () aeE
86. | ‘wer T FEEETEl FE :
(1) @ T
3) §T€T‘ )

BLBHJ-EE-June, 2025-Code-C  (28)
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87. | T H R aaed
(1) @ @ T
3) ey . 4) al'iﬁqﬁ
88. | ‘O 4\ W Fgr wel H G A T HA-A0 GEAT G
(1) [ & ae = @) T
(B) T w (4) @& H @
89. | ST 9= FH AT Y FARY ¢
Q) emmt (2) T
(3) o™ | (4)
90. | ‘Arw’ S5 @ Gt aen o
(1) ¥+ I%. (2) ¥ + 9
(8) I + oF (4) I +3F
91. | ot q o % AEEY B R T A= B
(1) Sfeiad | (2) AN
(3) SHET ' (4) TP
92. |add & 3fe A Y= I B T BT
(1) SEHI (2) SfrEnfERe
3) CIEINIETA @) R IBIIETA
03, | w1 ol R ¢
(1) ST | (2) FAA
(3) i 4) T

BLBHJ-EE-June, 2025-Code-C  (29)
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94, | ‘wFgd®’ = fhEd orria o
(1) frar fagwer (2) M
(8) g ' (4) T TR
95. | ‘wfaamEd’ fege @ @
Q) & (2) gerERE
3) fwr (4) FHERE™E
96. | FHR & TG T B AH FARY
(1) 5 (2) wEgH
(8) FHHII (4) F=EHd
97. G + T § A @ are
' (1) =t | (2) faet @t
(3) 9o gy (4) =T q FIg Tl
98. | ‘s TEE @ RFT AR & WY g 8 |
(1) TEE | (2) BHEMEE
(8) WIER (4) TEER
99. | St fiw A F FYA M9 G,
§ P- TABN o-
(1) 9 (2) T+
(3) SokEm (4) sTE
100. | ‘Frar off 3 7@ @er B 3 9gd SR E W A g} a9 H R ey
(1) A aTH (2) WY T
(3) HIH AR (4) @ ae

BLBHJ-EE-June, 2025-Code-C  (30)
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Code-D
Q"ﬁfgf"“ Questions
(Reasoning)
1. | Atank is fitted with two inlet pipes, Pipe A and Pipe B. Pipe A can fill the

tank in 12 hours, and Pipe B can fill it in 20 hours. There is also a waste
pipe that can empty the full tank. If all three pipes are opened together,
the tank gets completely filled in 15 hour. How long will the waste pipe
take to empty the full tank ?

(1) 10 hours (2) 15 hours

(3) 18 hours (4) 20 hours

TF ¥F F S U9 §, U A 3R UEU B WEY A ¥F F 12 €2 F 9% 21 929 B <F
F 20 6 F 9l ¥1 G ol R WY & S IF B @l BT @bl & | SR A T
UF G @i & ST ) 0% 15 °e ¥ WXl | I UBY O Y Wil hid § fhadl <A
e ? |

(1) 109 (2) 1582

(3) 18w (4) 208

The Rajdhani Express runs at a speed of 90 km/h. It starts from a station
6 hours after a goods train leaves that station. The Rajdhani overtakes the
goods train 6 hours after it starts. What is the speed of the goods train ?

(1) 50kmh - () 45km/h
(3) 40km/h (4) 30 km/h

T TR 90 RrY. /e @ TR A a9 31 98 U R @ T @ W e
6 92 4 Tddl 2 | TYFT, AEISl & W@IFT 81 & 6 °¢ a8 39q ol Maa sl
21 ArTEr @ ufq Fr ® 7

(1) 50 frdt. sd@T (2) .45 [t sder
(8) 40 forY. seer (4) 30 fEf. e

BLBHJ-EE-June, 2025-Code-D (1) e
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3. | Find the sum of the digits in the unit place of all 4-digit numbers that can

be formed using the digits 2, 5, 6 and 7 without any repetition.
(1) 144 (2) 136
(3) 120 (4) 156

3F 2, 5,6@17%@%%@%%%@%%@@@@@
4@@?@@%@%%%@@%%%%@1

(1) 144 | (2) 136

3) 120 (4) 156

@ 10 - @ 13

@ 19 4) 20

What should come in the place of X in the following number series ?

4,10,7,16, X, 22

@) 19 3 @) 20
Rreferfad G @ § X & ®F W & A =i ?
4,10, 7,16, X, 22

1) 10 © 13

BLBHJ-EE-June, 2025-Code-D (2)
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5. | In a group of three friends-Ravi, Raj and Ramesh-it is known that Raviis
taller than Raj but not as tall as Ramesh. Based on this information, if we
compare the heights of all three individuals, who among them is the talllest?
(1) Rawvi (2) Raj
(3) Ramesh (4) Cannot be determined
dF W, maﬁ?ﬁw%@m@'ﬁ%mﬁ%ﬁﬁﬁwﬁm%éﬁﬂﬁﬂ
foreT w1 wEl B 1 39 SHed & SR W), qﬁgﬂreﬂﬁfaﬁaﬁrﬁmﬁéaﬁwﬁ
@I q BN I a1 § 7
(1) - 2) T
(3) W« (4) TaiRa 78 fRan s
6. | IF TODAY is coded as UPEBZ, how is EXAM coded ?
(1) FYBN (2) EWBM
(3) FYAN \ (4) FXAN
gz TODAY %I UPEBZ fr@r sl & @ EXAM &1 fd 5w ferer smem ?
(1) FYBN (2) EWBM
8) FYAN . (4) FXAN
7. | If a dice has faces numbered 1 to 6, and it is rolled twice, how many total

(3) 18 @ A4

outcomes are possible ?

1) 12 (2) 36
@) 18 | 4) 24 |
IR F TR W 1 @ 6 TF FAe wb § oK g A A% G o 3, A W Fwe
IRem d@va §

1) 12 (2) 36

BLBHJ-EE-June, 2025-Code-D  (3)
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8. | A bag contains 4 red, 5 green and 6 blue balls. If one ball is drawn at

random, what is the probability that it is green ?
(1) 516 ' ©2) %
3) 1/5 (4) 1/3

Th 9 F 4 @, 5aﬁaﬁtsﬁrﬁﬁ%%lq&1ﬁammaﬁmaﬂﬁraa’l
1 HAE 8 g gl A ?

(1) 5/16 (2) %
3) 1/ - @) 1/3

9. | Acardisdrawn from a well-shuffled deck of 52 cards. What is the probability
of drawing a King or a Queen ?
(1) 4/26 ‘ (2) 8/54
(3) 113 . 4) 2/52
qﬁfa&waﬁrwﬁ@ﬁﬂé@ﬁﬁ@wﬁzﬁmw%lwmwﬁﬁﬂﬂﬁ
& WRbar |1 & ?
(1) 4/26 (2) 8/54
(3) 113 (4) 2/52

10. | If the cost price of 20 articles is éqﬁal to the selling p_ribe of 18 articles, find

the profit or loss percentage. |

(1) 10% profit : (2) 10% loss

(3) 11.11% profit (4) 11.11%loss

3 20 awgel F F4 Ted 18 Tl S 97 Ted & auar B, O @ @ e wfe s

BIfoT |
(1) 10% (2) 10% =T

(3) 11.11%@r4 4) 11.11% @M

BLBHJ-EE-J une, 2025-Code-D (1)
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Pointing to a man, a woman says, “He is the son of my grandfather’s only

o’ son”. How is the man related to the woman ?
(1) Father (2) Brother
(3) Son (4) . Cousin
@ STt @ K SWN H 5, U Al Fedl B, “qe AR a@ B g 9 H A
3| 78 ol afeen @ FRT TR GET ©)
(1) fe | @)
3) = (4) B
12. | A is the father of B and B is the brother of C. How is C related to A ?
(1) Father | _ (2) Mother
(3). Son/Daughter (4) Brother
A,BWW%@TB,CW%%IC%TA@WTHETH%?
1 f ' @ W
@ A8 (4)
13. | A man walks 5 km north, then 3 km east, then 5 km south. How far is he

from the starting point ?

(1) 3km (2) 4km
(3) 5km (4) 8km
@ Tl 5 AL T A A, B 8RRl W A e, —— <o 1
el 81 g8 YR g & Bhadl g W 7

(1) 3 et , (2) 4 4.
@) 5. - 4) 8 FrAl.

BLBHJ-EE-June, 2025-Code-D (5)
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14. | Arrange the words in the order in which they occur in a dictionary.

(A) Artist (B) Artificial
(C) Articulate (D) Aritisan
Options: - |

1. B, C,
2. C, A
3. B, D,
4. C, B, D, -
Tl B IH B A FaRyd B ad 3§ a=Hd § o & |
feepeq |

() Artist (@) Artificial

(1) Articulate (&) Aritisan

1. 9 71,9 %

2. T, & 4G,

3. U, H, &,

]

O WO
> QO

q
Tl'
4. T, 9 49 &

When a dice is rolled, what is the probability of getting a number greater

15.
than4? |
1. % 2 16 3) 1/3 4) 2/3
9 T Ul B T 3, d 4 | T G AN H GHEA R 8 ?
(1) % @ 16 (3 13 @) 23
16. | If some pens are books and all books are pages, then some pens are
definitely :
(1) Pages (2) Books
(3) Not pages . : (4) None of the above
aft o &7 Frerd ¥ ol @ R A E, @ 95 W PRI T A Y ¢
1) ™ (2) forerd
(3) U Tt (4) SWw ¥ q F5 &

BLBHJ-EE-June, 2025-Code-D (6)
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17. | Twonumbers are more than a third number by 20% and 50%, respectively.
The ratio of the first two numbers is :
1) 24 | (2) 3:5
3) 45 (4) 5:7
3 ded o dfEd g @ 20% X 50% aﬂhzs%,qaaﬁir@aﬁmagqmw%?
(1) 24 @ 35
3) 45 (4) 5:7
18. | Identify from the options giveh below the unwritten number (?) in the

series ? 180, 60, 15, 3

(1) 180 ' (2) 300

09 Ru 7o Rl 3 @ oiiReT W () @) v ?

180, 60, 15, 3
(1) 180 (2) ‘300
(3) 360 (4) 320

BLBHJ-EE-June, 2025-Code-D - (7)
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19.

Two different positions of the same dice are shown. Which numbers will be

at the top if 4 is at the botton ?

Sl

1) 3 (2) 6
@) 5 @1 .
@v‘éﬁim?fqﬁa‘am-wﬁaﬁmfaaﬁéné%qﬁwﬁa%ﬁraﬁmﬂﬁ@Tma?ﬂ?

1)

1) 3 (2) 6

3 5 4) 1

20.

number ?
(1) 5% increase sy (2) 5% decrease
[ (8) Nochange (4) 10% decrease

A certain number is first increased by 25%, and then the resulting number

is decreased by 20%. What is the net percentage change in the original

wg ffyad der § g 25% F gfa @ A ¥ o) Rt oRomh denr # 20% % &0
P o 81 g9 den § g giiea e /v g o?
(1) 5%3ks @) 5% Fh
3) #iE URacd & (4) 10%

BLBHJ-EE-June, 2025—CodejD ®
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21. | Which of the following is the largest Harappan site ?
(1) Mohenjo-daro (2) Lothal
(3) Rakhigarhi (4) Kalibangan
T § @ -6 998 997 53U @ 8 7
(1) e s | (2) et
(3) Il (4) FriET
22. | Which of the following was the immediate cause for the outbreak of revolt
of 1857 ? |
(1) Abolition of Sati - (2) Introduction of greased cartridges
(3) | Remarriage of widow (4) None of the above
1857 & Rille % ot AR & Red P A & A TR T o -
(1) @l 9o 1 I (2)azﬁg€|amq€r%ma€rm
@ R # e - @) IRw A d 9
23. | Which dynasty is known for its extensive rock-cut architecture and cave
temples ?
(1) Mauryan : (2) Satavahana
(3) Gupta (4) Kushana
B T ST A TCE-HE ARGE T TH AR D R o o ® 7
1) @ . (2) HrearET
@™ - (4) T

BLBHJ-EE-June, 2025-Code-D )
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24. | Where did Buddha give his first sermon ?

(1) Lumbini (2) Bodh Gaya
(3) Sarnath (4) Kushinagar |
IR T ST SR IR el R ?

(1) et | (2) w'

) ™™ (4) FATT

25. | The states created in 1960 were :
(1) Maharashtfa and Gujarat (2) Orissa and West Bengal .

(3) Rajasthanand Gujarat ~ (4) Punjaband Haryana

1960 % fffa Wy & :
(1) ¥ermg auf [RE (2) IS qUr W= §
(3) TNTRIM qul IO (4) YSE qur R

26. | Who delivered the first speech “Tryst with destiny”?

(1) Dr.S. Radhékrishnan (2). Pandit Jawahéi.rlaINehru
(8) Sardar Vallabhbhai Patel (4) Dr.Rajendra Prasad
Frat qee ol ARy & wn de R o ?

(1) et g, TuETH (2) Ufed SERtEN BE

@ TR R @) 3. T

BLBHJ-EE-June, 2025-Code-D (10)
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27. | Which one of the following is the main objective of ‘Jal Kranti Abhiyan’?

(1) Per capita water availability assurance
(2) Rain-water harvesting
(3) Conservation of water resources

(4) Providing sufficient water for agriculture

St it A’ @ gem Igevd el § @ A ® 7
(1) uiq af S SUaran sngares

(2) Tul o HIEW

(3) oI GEEAl # G

(4) U $ Y @ 99 Iuae S

‘Which was the first Census year of British India ?

28.
(1) 1891 ‘ (2) 1941
(3) 1881 (4) 1911
fafesr 9IRT & g™ SFOMT 99 Pie-Tr o7 ?
(1) 1891 (2) 1941
(3) 1881 (4) 1911
29. | Z Morh Tunnel is located in which state/UT ?

(1) Sikkim (2) Arunachal Pradesh
(3) Assam (4) Jammu and Kashmir
B 418 o7 fhe T /3% ot Rw # sraRed § ?

(1) fafom (2) FEIET HST

(3) oW (4) 9 T FHR

BLBHJ-EE-June, 2025-Code-D (11)
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30. | Which of the following town is not located on the banks of a river ?
(1) Patna (2) Kolkata
(3) Bhopal (4) Agra
P 3 9 @-a 76T el 7 R o T 8 7
(1) e (2) aierbrl
(3) it : (4) T
31. | How many individuals were honoured with the Padma Vibhushan Award in
20257
(1) 4 | 2 5
@3 7 4 9
2025 & R @it B og RisEeT g A @i fh T 7
(1) 4 @ 5 |
3) 7 | 4 9
32. | Which of the following gases helps in bread/cake fermentation so as to

make it soft and spongy ?

(1) Carbon monoxide (2) Carbon dioxide
(3) Nitrogen oxide (4) Sulphur dioxide
Pl & @ @ @ 79 38/4% & frvsad § werdr o § i g8 7% qur wot
A S T 7 ;
(1) FHET AHIRIES (2) T SRRIES

(3) TEEeA SifFIEe (4) TR SRITFES

BLBHJ-EE-June, 2025-Code-D (12)
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33. | Which of the following cell organelle is present only in plant cells ?
(1) Lysosomes (2) Plastids
3) Cell mel\nbrane (4) PIas1ﬁa membrane
FrfiRad # @ DF-a1 DR o1 Faw gy PR F o g ?
(1) TRAE (2) wiitegH
(3) i fRrcedl (4) <A fereht

34. | Electric bulb filament is made of :
(1) Copper- - | 2) Tungsten
(3) Aluminum- . (4) Nickel
ﬁgﬁ 9@ F A TMEAACE
(1) aid - (2) TrEA W
(3) ucgffEd @i ’ | (4) R @

35. | In fireworks, green flame is produced because of :
(1)’ Sodium | (2) Potassium
(3) Chlorine (4) Barium
afegartt # &6 w9 Edl g
(1) @fem & FRT (2) qeREm & BRI
(3) FNIT & HR (4) AR F TR

BLBHJ-EEfJune,' 2025-Code-D (13)
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36. [ The wavelength of visible spectrum is:
(1) 8500-9800 angstrom (2) 7800-8000 angstrom
(8) 3900-7600 angstrom (4) 1300-3000 angstrom
3 qUIHT H TCRH § ¢
(1) 8500-9800 FHTEMH (2) 7800-8000 T
(3) 3900-7600 FTEM (4) 1300-3000 TR
37. | The AI Action Summit 2025 was held in which of the following city ?
(1) New York (2) Paris ’
(B) Geneva (4) New Delhi
T o UFE afe 2025 frfifed § & R el g
1) = I ' @) Wa
@) (4) T Rt
38. | Kamla Persad-Bissessar hasbeen elected as prime minister of which country
in April 2025 ? i oo
(1) Barbados , (2) Cuba

(3) Trinidadand Tobago  (4) Jamaica
aﬁazozﬁmmﬁﬁmaﬁm%ﬂ%qﬁmﬁ?mﬁﬁmw%?
(1) SREE™ (2) g

(3) ffem it aam (4)

BLBHJ-EE-June, 2025-Code-D (14)
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39. | Who became the first Kannada writer to win the International Booker

Prize?

(1) Kuvempu (2) U.R.Ananthamurthy
(3) Girish Karnad (4) BanuMushtaq

A BT YURRR S il J7 18 A i a1 7

1) Y 2) F.9R. FFaEh

@) friw FHls. - @) 9 ges

40.

Which badminton players received the Major Dhyan Chand Khel Ratna
Award in May 2025 ?

(i) P.V.Sindhu and Saina NehWal

(2) Satwiksairaj Rankireddy and Chirag Shetty

(8) Kidambi Srikanth and’Lakshya Sen

(4) Sameer Vérma and Par;xpalli Kashyap

7g 2025 ¥ fo defives Raeniedl 3 A @M 9 & T JOER WIS e ?
1) . Rig q @ e | |

(2) iR TGSl e ferrr gl

(3) PRt T qor @ 8

(4) TR 99 qor USU HIAY

BLBHJ-EE-June, 2025-Code-D (15)




SET-X

Code-D
Qul%sg.ion Questions
(General Hindi)
41, | ‘w=wfy’ 9= F P-4 999 T
Q) g (2) Tl
(3) TYgeY (4) VE"E '
42. | ‘TH H AGAEH G OEnN
1) % (2) kel
@) T (@ T A BT
43. | ‘g 9= F HH-8 IJ9GT & ¢
(1) 38 ' @3
@) 4) 3
44. | ‘qeEw o= F HOY S
' a . (2) e
@) o . (4) @
45. | ‘ady @ ST T
D Tt ‘ (2) I
@3) FfEe (4) FHAT
46. | ‘T 1 wEgErEl qagd
V) @ T
® W (4 2

BLBHJ-EE-June, 2025-Code-D  (16)
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47. | ‘g @ Reim 9aEd
1) @i (2) T
3) P (4) argferd

48. | ‘B8 91 H TGl TGl HT GG A H AT e B
(1) o & @ a (2) T Ao
(3) &T @ WM (4) % § @

49. | 9= F TGII BY TR

(1) o _ (2) S .
@ em | (4) T
50. | w95 H i B
1) T+aF (2) 7 +T%
@) ¥+ @) % +75

51. mﬁmwmﬁw%m@w&:m:

(1)  ARfiEd | (2) ST
(3) SR (4) emaRfa
52. aﬁﬁéﬁe@s@awwmaﬁrﬁm:
1) EFfETT (2) SR
(3) afEfiETor (4) iR
53. | A &1 ot s Ay
' (1) S ool (2) Fxa
1® @ . 4) T

BLBHJ‘—EE-J une, 2025-Code-D (@17
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54. | ‘MgdE = Rhd aTwEla ST
(1) fer fagyor (2) M
@) @ (4) i @A
T~
55. | ‘Fiaamac’ e = R |
1) & (2) e
3) fesri @ FHANEd
§ 56. iﬁtﬁ? i TS TEE1 H AW aAEd ' N4 S
1) g (2) agd
(3) wHRHI (4) gEHd
57. | ‘o + R & &9 o af § |
(1) o afg (2) faa gfy
(3) Tu @y (4) 378 | F3 T
58. | ‘STt FAR F RhY a1 B W E
| (1) wErErE (2) BHEERE
. (3) srzﬂﬂaﬁ (4) BRIEE
‘"‘:59."rraq:ra’rrrﬁraﬁuﬁmwnﬁf@rq 3
a} SRR &, 98 A 8
§ F9-a1 PR &-
(1) w9 (2) 795
(3) Ier ' @ oM
60, | T o 7 g @ P 3 A A € T A g @ a9 AR e |
' (1) € arFd (2) My
(3) ¥IF aH (4) @ g sty
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61. | Terse (Give Synonym)
(1) briefin speech (2) beyond fear
(3) without honor (4) under strain
62. | Tenacity (Give synonym)
(1) perseverance (2) decimation ' .
(3) splendor (4) ingratitude
63. | Select the most appropriate meaning of the given idiom : Hale and hearty
(1) Strongand healthy (2) Angry but happy
(3) Clumsy and calm (4) . Weak and ill
64. | Select the most appropriate meaning of the given idiom : In a nutshell
(1) Very briefly (2) Extremely pale
(3) Under protection (4) Without delay e
: AR 5 38
65. | Select the correct passive voice of the given sentence : g

‘Who can question Gandhi’s integrity ?

(1) By wh_o'm can Gandhi’s integrity be questioned ?
(2) By whom Gandhi’s integrity can be questioned ?
(8) Gandhi’s integrity can be questioned by whom ?

(4) Who could have questioned Gandhi’s integrity ?
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66. | Select the correct passive voice of the given sentence.

He presented me a bouquet on my birthday.

(1) Iwas presented a bouquet on my birthday by him.

(2) A bouquet is presented to me on my birthday by him.
(3) Iam presented on my birthday a bouquet by him. '

(4) Iwill be presented a bouquet on my birthday by him.

the Taj Mahal. (Choose the correct option)

67. | Ifhe had gone to Agra, he ..........
(1) would have seen ; (2) saw
(3) had been seen (4) have been seen
68. | The boy ............... came to see me this morning had come from Agra.
(Choose the correct opﬁon)
(1) who (2) which
(3) that (4) whom
69. | His path was beset ............... difficulties.
(1) with (2) within
(8) among (4) by
70. | I have resigned myself ............... my fate.
(1) to (2) with
(3) on (4) at
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71.

Select the alternative that shows a similar relationship as the given pair-
Impulsive : Impromptu
(1) Flawless: Impeccable (2) Moderate : Increase

(3) Perpetual : Transitory (4) Resistant : Receptive

72.

Select the sentences that has no spelling errors :

(1) The mall road of our city is always teeming with street vendors
(2) The mall road of our city is always teyming with sfreet vendors
(3) The mall road of our city is always timing with street vendors

(4) The mall road of our city is always tyming with street vendors

73.

Select the most appropriate antonym of the underlined word :
He was riding his bike on a bumpy surface.

(1) Uneven - (2) dJerky

(3) Choppy (4) Steady

74.

Select the option that can be used as a one-word substitute for the underlined

part of the given sentence. Dogs are known for being faithful.
(1) Fidelity (2) Honesty
(3) Creditability (4) Genuineness

75.

Select the antonym of to abnegate
(1). toadmit (2) to eject
(3) to evict (4) to bounce
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76. | Choose the sentence with correct subject-verb agreement :

(1) The committee has decided on the date.
(2) The committee have decided on the date.
(3) The committee are deciding on the date.
(4) The committees decides on the date.

77. | Select the sentence with an incorrect plural form :
(1) I bought two loafs of bread 7
(2) The geese are flying south

(38) We saw several mice in the barn.

(4) Shehas many books

78. | Select the sentence that correctly uses a gerund :
(1) Ienjoy swimming in the ocean

(2) I enjoy to swim in the ocean

(3) Ienjoy swim in the ocean

(4) Ienjoy toswimming in the ocean

79. | Choose the correct sentence :
(1) Neither of the lawyers has presented their argument

(2) Neither of the lawyers have presented their argument
(3) Neither of the lawyers have presented his argument

(4) Neither of the lawyers has presented their arguments

B

80. | Fill in the blank with the correct phrasal verb :

| The new law will surely .............. many chgllenges dﬁring implementation.
(1) runinto (2) bring about
(8) come across (4) take over
LI
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81. | Which of the following is not exclusively a crime ?
(1) Theft (2) Trespass
(3) Murder (4) Kidnapping
Frfiiad § @ @9-a1 o ®9 9 T g 7E 8 7
Q) I« (2) "SfEr
(3) B (4) ST9E
82. | Which part of the Indian Constitution deals with Fundamental Duties ?
(1) Part-III (2) Part-IV
(3) Part-IVA : (4) Part-V
ARAIG WA F1 B8 A A il § b © ?
(1) «qrr-IIl (2) -1V
@) =EIVA 4) -V
83.

In law, what do you understand by the term, ‘Estoppel’?
(1) Prohibiting someone from committing a crime

(2) A person cannot deny what he has previously stated
(3) Right to sue in a civil court

(4) Right to be heard

FA 7 a9 ‘fde’ 9= @ F qHEd € ?

(1) &l g HA QA

(2) @ AR TR FE T AW { FTER T B qb

() falad e # qHgEW F 1 AHR

@) G I T SaER

BLBHJ-EE-June, 2025-Code-D (23)



SET-X
Code-D

Question
No.

Questions

84.

Which Article of the Indian Constitution deals with the Uniform Civil Code?
(1) Article 32 (2) Article 44

(3) Article 21 (4) Article 370

WY WA F F9-a7 orgeds g A dfedr @ b € 7
(1) og=s% 32 (2) g% 44

(3) eorg=e 21 | (4) oTR% 370

85.

What is the meaning of the legal maxim “Res ipsa loquitur”?
(1) ‘The thing speaks for itself |

(2) Let the buyer beware

(3) To stand by decided matters

(4) No one is above the law _

e serad X9 gor dfftbed & o 8 P

(1) 9« gz & dierdl 8 (2) GER @@aH ©

(3) T Al W FEH G (@) g FE q SR T &

86.

A person who is arrested and detained in custody must be presented before
a magistrate within how many hours ?

(1) 12 hourg (2) 24 hours ;
(3) 48 hours (4) 72 hours

P Pl 7 6 P 3 R e Pt S8 @ o AR % a e
foran S emfed ?

(1) 12% : (2) 2462
3) 48%R 4) 7282
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87. | If a minor enters into a contract for purchase of a mobile phone,
what would be the status of such a contract under the Indian Contract
Act, 18727
(1) Void ab initio (2) Voidable
(3) Valid and enforceable (4) Voidable at the option of the minor
I P AR et B T B R e e 2, O AR oY SR,
1872 % ol U orgey o Refy wn & ? |
(1) 9| & e (2) TIHwY
(3) Iy T wEEE , (4) TEIRET % T R STARE
88. Which one of the following ié guaranteed as a fundamental right under the
Constitution of India ? ,
(1) Right to vote (2) Right to constitutional remedies
(3) Right to strike : (4) Right to property
e § & SF-81 9Rd & Wlgm § il e ik @ w1 § wemE ©
(1) ¥R & AR (2) | ITER! H SRR
(3) TS F AUBR 4) TR @ SRR
89. | What is the title of the writ issued by a court to restrain a person from

holding a public office to which he is not entitled ?
(1) Habeas Corpus (2) Mandamus
(3) Quo Warranto (4) Certiorari

frfl ffR @ QAN GGG @ R A @ U6 3 RS R 98 s TR
memmsﬁw'w@m%?

(1) =€ geefieer (2 THRY

@) fER g @) &
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90. | The doctrine of ‘Rule of Law’ is primarily associated with which of the
following ?
(1) Karl Marx (2) Montesquieu
(3) Aristotle (4) Dicey
“mﬁ%m"mmmg@mﬁﬁwﬁﬁ@ﬁﬁﬁﬁm%m@a%?
(1) @ 7 (2) HIveE,
(3) o (4) =
91. | The Indian Penal Code, 1860 has been replaced by which of the following

laws ?

(1) Bharatiya Dand Sanhita, 2023

(2) Bharatiya Nyaya Sanhita, 2023

(3) Bharatiya Nagarik Suraksha Sanhita; 2023

(4) Bharatiya Sakshya Adhiniyam, 2023 '

ARG a8 e, 1860ﬂﬁﬂﬁi@ﬁﬁﬁmwmnﬁi@nﬁﬁﬁmw%?i
(1) «Rd s e, 2023

(2) 9RdE™ < gfedr, 2023

(3) A AT G wedr, 2023

(4) TR A sffE, 2023 '
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92. | Which of the following is a crime in India ?

(1) Adultery - (2) Sedition

(3) Defamation (4) Homosexuality
ﬁﬁrﬁmﬁﬁ.ﬁﬁq-mmﬁm%?

() &g (2) o=

(3) wrTEy (4) I

93.

The concept of “Basic Structure” of the Constitution was laid down in which
landmark case ?

(1) A.K. Gopalan v. State of Madras

1 @ Kesavananda Bharati v. State of Kerala

(3) Golaknath v. State of Pubjab

(4) Minerva Mills v. Union of India

dfaam 3 IR B T SruTen R Wi aw § ReiRa @ w6 2
(1) TH. NURH a9 9206 T (2) AT RS 9 S 7o
() THTY FM T T (4) Pl Bew S 9Rg Gy

94.

The ownership of patents, copyright and trademark is known as-
(1) Corporeal ownership " (2) Incorporeal ownership

(3) Equitableownership ~ (4) Contingent ownership
U=, Ffdiige qur a9 g & @ifE ST S @

1) 9 afEd i (2) o @hE $ wy A
3) =MW @G 3w A (4) TR @iE § T d
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95.

.What do you mean by ratio-decidendi of a case /4
(1) Order of the court in the particular case
(2) Final decree pronounced by the court
(3) Underlying reason or principle forming the hasis of judgement

(4) The persuasive part of judgement

Reft ot @ Fofa & omar @ ongn Far o 7 7
() R aw A = e
2) <mwd aw) A i A
(3) Frofy @ MR a9 ar sidtifed #1007 41 g

(4) TG &1 WE 9

96.

The vicarious liability of State for the wrongs committed by its servants is
contained in which Article of the Constitution ?
(1) Article-297 (2) Article-298

3) Article-299 (4) Article-300
¥ fRa g ? s

ey W—ZW (2) HAT=R-298

@ omRe299 (1) FFRE-300
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97. | Inlaw, dislocation of tooth amounts to which of the following crimes ?
(1) Simple hurt (2) Grievous hurt =
(3) Criminal assault (4) Criminal force |
LT, A W Sw P § @ B v @ sty o
(1) @R e (2) THR e
| ® o s @) SRR T
' 98. Right to shelter was recognized by the Supreme Court as a part of Right to
life under the Constitution of India, in which of the fo_llofwng cases ?
(1) Olga Tellis v. Bombay Municipal Corporation
(2) Vishakha v. State of Rajasthan
(3) . M.C. Mehta v. Union of India

(4) Prem Shankar Shuklav. Delhi Administration

S & AR H ARG F WA F T8 Had B SRER F & 9 B w5 F iy

(1) olien FRE g7 gag YRR HaReE
(2) fagm@Er @M W TF
(8) ©y @ A gAM AR §H

(4) 7 ofex g g fawell Heme
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99.

: : arriage
Which of the following statements is correct relating to legal age of m g

in India ?

(1) 16 for girls and 18 for boys

(2) 18 for both boys as well as girls

(3) 18 for girls and 21 for boys

(4) 21 for both boys as well as girls

o 7 P 1 e g @ e ) e P A @ S E 2
(1) wfEEl & Rl 16 qur aew & i 18 |

(2) W T aszﬁr g & 1T 18 |

(3) agﬁsq”r%m 18aar§-|sz€fa‘st%|a21

(4) @H 91 qeH A @ g 21

100.

By which Amendment of the Constitution, were the terms ‘socialist’ and

‘secular’ added to the preamble ?

(1) 36" Amendment (2) 42" Amendment

(3) 52" Amendment (4) 66" Amendment

A 3 e dRe ER R A Al SR :n&:zﬁraﬁgnw?
(1) 36al dame (2) 42a dales

(@) 52ai G 4) 66ai e
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